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Q1. DIRECTIONS: In the following question, out of the four alternatives, choose the one which best expresses the meaning of the given word.

Eradicate:

O Magnify
O Approve

O Condense

() Uproot

Answer of above question: Uproot

Q2. DIRECTIONS: In the following question, out of the four alternatives, choose the one which best expresses the meaning of the given word.

Collection:
() Anthology

() Inheritance
O Legacy
O Currency

Answer of above question: Anthology

Q3. DIRECTIONS: In the following sentence, a word or phrase has been italicized. For each italicized part, four words/phrases are listed below each sentence. Choose the word

nearest in meaning to the italicized part.

We should abstain from casting aspersions on the character of our colleagues.
O passing critical remarks
() paying left-handed compliments

() cracking silly jokes
O passing slanderous remarks

Answer of above question: passing slanderous remarks

Q4. Directions: Every word in all the proficiency tests has four options. You have to find out the word exactly opposite in meaning to the given word.

Bemoan:

() lament
O deplore
O mourn
O applaud

Answer of above question: applaud

Q5. Directions: Select the word or phrase which is closest to the opposite in meaning of the italicized word or phrase.

After meeting the holy man, his nagging mood of diffidence suddenly changed.

O confusion

O self assurance
O contentment
O consternation

Answer of above question: self assurance

Q6. The following question consists of a word printed in capital letters, followed by four words or phrases. Select the word or phrase that is most closely opposite in meaning to the

capitalised word.

EFFULGENCE:

O murky
O harshness
O mercenary
() quiet

Answer of above question: murky

Q7. DIRECTIONS: Choose the correct spelling of the given words.

() Bouquete
() Bouquet
O Boquet

O Bouquette

Answer of above question: Bouquet

Q8. DIRECTIONS: Choose the correct spelling of the given words.

O Inumerable

O Innumerabel



O Innumereble
O Innumerable

Answer of above question: Innumerable

Q9. Choose the incorrectly spelt word from the following set of words:

O buried
O hurried
() carried
() absolutly

Answer of above question: absolutly

Q10. An idiomatic expression and its four possible meanings are given in the following question. Find out the correct meaning of the idiomatic expression and mark that meaning.

Hear it on the grapevine
O to hear rumours
O to hear from the market
O to listen from behind the doors
O to listen from horse’s mouth

Answer of above question: to hear rumours

Q11. Directions: In the following idiom/phrase is followed by four options. You have to find out the exact option from the given options.

To turn over a new leaf
O to change the old habits and adopt new ones
O to cover up one's faults by wearing new marks
O to change completely one’s course of action
O to shift attention to new problems after having studied the old ones thoroughly

Answer of above question: to change completely one’s course of action

Q12. In the following question, four alternatives are given for the idiom/phrase underlined in the sentence. Choose the alternative which best expresses the meaning of the
idiom/phrase

A critic’s work is to read between the lines.
O to comprehend the meaning
O to appreciate the inner beauty
O to understand the inner meaning
O to read carefully

Answer of above question: to understand the inner meaning

Q13. Directions: Every sentence is followed by four options. You have to find out the one-word substitution for given sentences.

Rainfall at irregular intervals or occasionally.

() irregular
() sporadic
O accidental

O temporary

Answer of above question: sporadic

Q14. In the following questions, out of the four alternatives choose the one that can be substituted for the given words/phrase:

A person very hard to please.

O obstinate
O unconquerable
O fastidious
() invincible

Answer of above question: fastidious

Q15. DIRECTIONS: The question contains a set of five sentences, four of which make a coherent paragraph. Find the odd sentence out and key in your answer.

(A) In 1902, the Maharaja of Kapurthala gave his civil engineer, photographs of the Versailles palace and asked him to replicate it, right down to the gargoyles.
(B) But many of them, as the available light photographs show, had execrable taste.

(C) But many of them were done very tastefully.

(D) Yeshwantrao Holkar of Indore brought in Bauhaus aesthetics and even works of modern artists like Brancusi and Duchamp.

(E) Some of the maharajas, like the one at Kapurthala, had exquisite taste

() EAcB
(O EADC
O

EADB

O EABC

Answer of above question: EADB



Q16. Directions: Choose the best word(s) to complete each sentence.
A bottle of generic Tramadol is just as effective as a name-brand one; they are completely

A. synonymous B. replaceable C. fungible D. antithetical
O
Oc
(O D
O A

Answer of above question: C

Q17. Directions: Choose the best word(s) to complete each sentence.

Mr. Ernst is clearly magnanimous, as his enabled the university to build a new library; what is more, he also donated money to start a scholarship fund for minority
students.

O bequeathal
O equitableness

Answer of above question: largess

Q18. Directions: Choose the best word(s) to complete each sentence.

The couple was upset by the construction of the new skyscraper across the street, as the building would their once scenic view.
A. ameliorate B. occlude C. obviate D. disencumber

(OB
Oc
(O D
OA

Answer of above question: B

Q19. Directions: Choose the word that is most nearly opposite in meaning to the word in capital letters.

AMASS
O disperse
O meld
O muster
O compile

Answer of above question: disperse

Q20. Directions: Choose the word that is most nearly opposite in meaning to the word in capital letters.

FESTIVE

O dreary
() serene
() hearty
() gruesome

Answer of above question: dreary

Q21. Directions: Choose the answer choice that best defines the word in capital letters.

PULCHRITUDINOUS
() throbbing
O weeping
O cowardly
O gorgeous

Answer of above question: gorgeous

Q22. Directions: Choose the answer choice that best defines the word in capital letters

CLEAVE
O to seclude in a convent
O to free from dirt or stains

() tocutor split
() topass out or faint

Answer of above question: to cut or split

Q23. After work, he read multiple financial magazines to keep..........c...... of current issues so that he could provide more value on the job.

O keen
() away



O imaging
O abreast

Answer of above question: abreast

Q24. He took a second job to pay his bills. He wasn't earning enough at the first job to keep his creditors at.............

O work
O home
() bay
() friends

Answer of above question: bay

Q25. He knew that he should keep in................ with his family but he didn't even seem to have time for himself after work most days.

() visual sight

O warm bond
O thick as thieves

O touch

Answer of above question: touch

Q26. A hand pump is very easy to work and it can be fitted in every house.
() Noimprovement

O can be fits

O could be fitting
() can be fitting

Answer of above question: No improvement

Q27. Fill in the blank with the appropriate option

I always like to get to an appointment in............ time.

() good
O best
O fine
O clear

Answer of above question: good

Q28. Fill in the blank with the appropriate option

([ time she learnt to look after herself.

() about
() through

Answer of above question: about

Q29. Fill in the blank with the appropriate option
We're not living here for good but just for the time.................. .

O seeing
(O trying
() going
O being

Answer of above question: being

Q30. Fill in the blank with the appropriate option
Time .. , it's difficult to believe that we've been here all day.

Answer of above question: flies

Q31. Based on how the term "magnum opus" is described in paragraph 1, which of the following is the best example of a magnum opus?

Directions: Read the passage. Then answer the questions below.

On April 17, 1397, Geoffrey Chaucer presented his newest work, The Canterbury Tales, to the court of King Richard II. The work was not Chaucer’s first but certainly his best,
making it his magnum opus, or masterwork. Though over six centuries old, the work continues to be read today. However, most schools are not teaching the work correctly.
They treat it less as a literary work and more as a historical text, a work that demonstrates how the English language has evolved and also how people lived in the late Middle
Ages. The Canterbury Tales, though, is the first truly great work of art created in English and deserves to be read alongside Shakespeare’s plays not only as a part of history but
as evidence of the human spirit.



The work is, as the title implies, not a novel or play but a collection of stories. It concerns a group of pilgrims—people traveling to a sacred site for religious persons—who meet
on their way to Canterbury, the site of the murder of Saint Thomas Becket. The pilgrims decide to pass the time by telling stories, the “tales” of the title. Each story has a
universal moral as well as an individual perception. That is, each story is told in the way that its teller sees it, meaning the knight tells his story as a knight would see it while the
nuns tell their tales through the eyes of religious people.

And this is why the work really deserves to be read for its art and not merely its context in history. In writing stories from unique perspectives, Chaucer basically invented the
idea of narration. Prior to Chaucer, works, even fictional ones, were written as though they only shared absolute truths and facts. A work like Beowulf, for instance, tells a story
that is to be believed and read in the same way every time. Chaucer's work, though, suggests that each person can see things differently. This means that a story is just that: a
story, not a fact. Through Chaucer, literature became fiction. The result is that the reader gets the same pleasure from reading the stories that the pilgrims get from sharing
them with each other. They allow us to pass the time, to make life a little less dull, and to convey ways of thinking that are not our own—even while sharing universal truths.

O an artist's most important painting

O a salesman'’s biggest sale of the year

O an enormous encyclopedia

() animportant historical document

Answer of above question: an artist’s most important painting

Q32. It can be inferred from the passage that the author feels The Canterbury Tales has incorrectly been taught as
Directions: Read the passage. Then answer the questions below.

On April 17, 1397, Geoffrey Chaucer presented his newest work, The Canterbury Tales, to the court of King Richard Il. The work was not Chaucer’s first but certainly his best,
making it his magnum opus, or masterwork. Though over six centuries old, the work continues to be read today. However, most schools are not teaching the work correctly.
They treat it less as a literary work and more as a historical text, a work that demonstrates how the English language has evolved and also how people lived in the late Middle
Ages. The Canterbury Tales, though, is the first truly great work of art created in English and deserves to be read alongside Shakespeare’s plays not only as a part of history but
as evidence of the human spirit.

The work is, as the title implies, not a novel or play but a collection of stories. It concerns a group of pilgrims—people traveling to a sacred site for religious persons—who meet
on their way to Canterbury, the site of the murder of Saint Thomas Becket. The pilgrims decide to pass the time by telling stories, the “tales” of the title. Each story has a
universal moral as well as an individual perception. That is, each story is told in the way that its teller sees it, meaning the knight tells his story as a knight would see it while the
nuns tell their tales through the eyes of religious people.

And this is why the work really deserves to be read for its art and not merely its context in history. In writing stories from unique perspectives, Chaucer basically invented the
idea of narration. Prior to Chaucer, works, even fictional ones, were written as though they only shared absolute truths and facts. A work like Beowulf, for instance, tells a story
that is to be believed and read in the same way every time. Chaucer's work, though, suggests that each person can see things differently. This means that a story is just that: a
story, not a fact. Through Chaucer, literature became fiction. The result is that the reader gets the same pleasure from reading the stories that the pilgrims get from sharing
them with each other. They allow us to pass the time, to make life a little less dull, and to convey ways of thinking that are not our own—even while sharing universal truths.

O an important piece of art only

O an important work of religion only
O an important work of fiction only
O an important historical text only

Answer of above question: an important historical text only

Q33. According to the passage, why do the characters in The Canterbury Tales travel to Canterbury?
Directions: Read the passage. Then answer the questions below.

On April 17, 1397, Geoffrey Chaucer presented his newest work, The Canterbury Tales, to the court of King Richard II. The work was not Chaucer’s first but certainly his best,
making it his magnum opus, or masterwork. Though over six centuries old, the work continues to be read today. However, most schools are not teaching the work correctly.
They treat it less as a literary work and more as a historical text, a work that demonstrates how the English language has evolved and also how people lived in the late Middle
Ages. The Canterbury Tales, though, is the first truly great work of art created in English and deserves to be read alongside Shakespeare’s plays not only as a part of history but
as evidence of the human spirit.

The work is, as the title implies, not a novel or play but a collection of stories. It concerns a group of pilgrims—people traveling to a sacred site for religious persons—who meet
on their way to Canterbury, the site of the murder of Saint Thomas Becket. The pilgrims decide to pass the time by telling stories, the “tales” of the title. Each story has a
universal moral as well as an individual perception. That is, each story is told in the way that its teller sees it, meaning the knight tells his story as a knight would see it while the
nuns tell their tales through the eyes of religious people.

And this is why the work really deserves to be read for its art and not merely its context in history. In writing stories from unique perspectives, Chaucer basically invented the
idea of narration. Prior to Chaucer, works, even fictional ones, were written as though they only shared absolute truths and facts. A work like Beowulf, for instance, tells a story
that is to be believed and read in the same way every time. Chaucer's work, though, suggests that each person can see things differently. This means that a story is just that: a
story, not a fact. Through Chaucer, literature became fiction. The result is that the reader gets the same pleasure from reading the stories that the pilgrims get from sharing
them with each other. They allow us to pass the time, to make life a little less dull, and to convey ways of thinking that are not our own—even while sharing universal truths.

() Itis where all pilgrims traveled.

O It is where an important saint was killed.

O It is where Chaucer lived.

O It is where an important religious festival is taking place

Answer of above question: It is where an important saint was killed.

Q34. According to the author, The Canterbury Tales is such an important work of literature because it showed characters who
Directions: Read the passage. Then answer the questions below.

On April 17, 1397, Geoffrey Chaucer presented his newest work, The Canterbury Tales, to the court of King Richard Il. The work was not Chaucer’s first but certainly his best,
making it his magnum opus, or masterwork. Though over six centuries old, the work continues to be read today. However, most schools are not teaching the work correctly.
They treat it less as a literary work and more as a historical text, a work that demonstrates how the English language has evolved and also how people lived in the late Middle
Ages. The Canterbury Tales, though, is the first truly great work of art created in English and deserves to be read alongside Shakespeare’s plays not only as a part of history but
as evidence of the human spirit.



The work is, as the title implies, not a novel or play but a collection of stories. It concerns a group of pilgrims—people traveling to a sacred site for religious persons—who meet
on their way to Canterbury, the site of the murder of Saint Thomas Becket. The pilgrims decide to pass the time by telling stories, the “tales” of the title. Each story has a
universal moral as well as an individual perception. That is, each story is told in the way that its teller sees it, meaning the knight tells his story as a knight would see it while the
nuns tell their tales through the eyes of religious people.

And this is why the work really deserves to be read for its art and not merely its context in history. In writing stories from unique perspectives, Chaucer basically invented the
idea of narration. Prior to Chaucer, works, even fictional ones, were written as though they only shared absolute truths and facts. A work like Beowulf, for instance, tells a story
that is to be believed and read in the same way every time. Chaucer's work, though, suggests that each person can see things differently. This means that a story is just that: a
story, not a fact. Through Chaucer, literature became fiction. The result is that the reader gets the same pleasure from reading the stories that the pilgrims get from sharing
them with each other. They allow us to pass the time, to make life a little less dull, and to convey ways of thinking that are not our own—even while sharing universal truths.

O were not completely religious

() had different perceptions

O had completely different background

O were able to demonstrate morals

Answer of above question: had different perceptions

Q35. The main purpose of paragraph 3 is to
Directions: Read the passage. Then answer the questions below.

On April 17, 1397, Geoffrey Chaucer presented his newest work, The Canterbury Tales, to the court of King Richard II. The work was not Chaucer’s first but certainly his best,
making it his magnum opus, or masterwork. Though over six centuries old, the work continues to be read today. However, most schools are not teaching the work correctly.
They treat it less as a literary work and more as a historical text, a work that demonstrates how the English language has evolved and also how people lived in the late Middle
Ages. The Canterbury Tales, though, is the first truly great work of art created in English and deserves to be read alongside Shakespeare’s plays not only as a part of history but
as evidence of the human spirit.

The work is, as the title implies, not a novel or play but a collection of stories. It concerns a group of pilgrims—people traveling to a sacred site for religious persons—who meet
on their way to Canterbury, the site of the murder of Saint Thomas Becket. The pilgrims decide to pass the time by telling stories, the “tales” of the title. Each story has a
universal moral as well as an individual perception. That is, each story is told in the way that its teller sees it, meaning the knight tells his story as a knight would see it while the
nuns tell their tales through the eyes of religious people.

And this is why the work really deserves to be read for its art and not merely its context in history. In writing stories from unique perspectives, Chaucer basically invented the
idea of narration. Prior to Chaucer, works, even fictional ones, were written as though they only shared absolute truths and facts. A work like Beowulf, for instance, tells a story
that is to be believed and read in the same way every time. Chaucer's work, though, suggests that each person can see things differently. This means that a story is just that: a
story, not a fact. Through Chaucer, literature became fiction. The result is that the reader gets the same pleasure from reading the stories that the pilgrims get from sharing
them with each other. They allow us to pass the time, to make life a little less dull, and to convey ways of thinking that are not our own—even while sharing universal truths.

O demonstrate the author’s familiarity with the subject
() introduce a new line of thinking on the subject

O provide background information on the subject

O convey the author’'s main argument

Answer of above question: convey the author’s main argument

Q36. Which of the following pieces of information, if true, would call into question the author’s argument?
Directions: Read the passage. Then answer the questions below.

On April 17, 1397, Geoffrey Chaucer presented his newest work, The Canterbury Tales, to the court of King Richard II. The work was not Chaucer’s first but certainly his best,
making it his magnum opus, or masterwork. Though over six centuries old, the work continues to be read today. However, most schools are not teaching the work correctly.
They treat it less as a literary work and more as a historical text, a work that demonstrates how the English language has evolved and also how people lived in the late Middle
Ages. The Canterbury Tales, though, is the first truly great work of art created in English and deserves to be read alongside Shakespeare’s plays not only as a part of history but
as evidence of the human spirit.

The work is, as the title implies, not a novel or play but a collection of stories. It concerns a group of pilgrims—people traveling to a sacred site for religious persons—who meet
on their way to Canterbury, the site of the murder of Saint Thomas Becket. The pilgrims decide to pass the time by telling stories, the “tales” of the title. Each story has a
universal moral as well as an individual perception. That is, each story is told in the way that its teller sees it, meaning the knight tells his story as a knight would see it while the
nuns tell their tales through the eyes of religious people.

And this is why the work really deserves to be read for its art and not merely its context in history. In writing stories from unique perspectives, Chaucer basically invented the
idea of narration. Prior to Chaucer, works, even fictional ones, were written as though they only shared absolute truths and facts. A work like Beowulf, for instance, tells a story
that is to be believed and read in the same way every time. Chaucer's work, though, suggests that each person can see things differently. This means that a story is just that: a
story, not a fact. Through Chaucer, literature became fiction. The result is that the reader gets the same pleasure from reading the stories that the pilgrims get from sharing
them with each other. They allow us to pass the time, to make life a little less dull, and to convey ways of thinking that are not our own—even while sharing universal truths.

O Chaucer’s work explored themes of faith, religion, class, and honor in Medieval England.
O Chaucer’s The Canterbury Tales is one of the first works to be written in the English vernacular, rather than Latin.
O Chaucer did not actually invent the novel, as Miguel de Cervantes did so with the publishing of Don Quixote two centuries later.

O Chaucer actually stole the form of The Canterbury Tales from an earlier work by Boccaccio called The Decameron.

Answer of above question: Chaucer actually stole the form of The Canterbury Tales from an earlier work by Boccaccio called The Decameron.

Q37. The main purpose this passage is to
Directions: Read the passage. Then answer the questions below.

Most people know that an avalanche is a large mass of snow that detaches from a mountainside and rushes down the slope, often at a very high speed. However, not everyone
realizes that there are many different kinds of avalanches, with various causes and effects. Avalanches are categorized based on whether the snow is wet or dry, and whether or
not it is compacted. The four most common types are: dry snow, wet snow, wet slab, and dry slab. The least dangerous type is a dry snow avalanche, which is made up of
powdery snow. A dry snow avalanche most often occurs on steeper slopes during a snowstorm when the temperatures are below freezing. Despite the fact that they can reach
speeds of up to 225 miles per hour, these avalanches tend to be small, and their snow is loose, not compacted, so they are less dangerous. Yet even a dry snow avalanche can
cause harm under the right conditions.



A wet snow avalanche differs from a dry snow avalanche in that it consists of loose, partially melted snow and water. Wet snow avalanches generally occur during the
springtime when temperatures are consistently above freezing and there is an abundance of both sunshine and rainfall. The warmer temperatures and the sun melt the outer
layers of snow. The increased springtime rainfall saturates the snow with water, weakening the cohesive layers beneath the surface. The combination of these factors results in
unstable conditions. Wet snow avalanches are the least common type of avalanche, and they are much slower than dry snow avalanches, typically traveling at speeds of only
10-20 miles per hour.

Like a wet snow avalanche, a wet slab avalanche most often occurs during the spring, due to melting snow and increased rainfall. The additional moisture weakens the bonds
between the water molecules of the snow. Daytime melting and nighttime refreezing of the ice and snow create ideal conditions for a wet slab avalanche. This type of
avalanche is the slowest, generally travelling at a speed of no more than 10 miles per hour. But because the snow is compacted, not loose, a wet slab avalanche is still quite
dangerous even at this slow speed.

The last type, a dry slab avalanche, is the most dangerous of all. It occurs when substantial snowfall accumulates over a layer of existing snow in a very short period of time. The
stress caused by the weight of the newly fallen snow can make the compacted layer underneath break away. This creates a dry slab avalanche, which travels at speeds of 60-80
miles per hour. Dry slab avalanches account for roughly 90% of all avalanche-related casualties annually.

Millions of avalanches happen around the world each year, the vast majority of which occur naturally. However, nearly all of the avalanches that result in fatalities are triggered
by either the victim or someone in the victim’s party. Each year, approximately 150 people become casualties of an avalanche. Sadly, most of these avalanche accidents are
preventable. The first step in preventing avalanche related fatalities is to be better informed about the various types of avalanches and the conditions under which they occur..

O communicate the dangers of avalanches

O show how preventable an avalanche can be

O describe the four basic types of avalanches

O define what an avalanche is

Answer of above question: describe the four basic types of avalanches

Q38. In paragraph 2 the author writes, "Yet even a dry snow avalanche can cause harm under the right conditions." The purpose of this statement is to
Directions: Read the passage. Then answer the questions below.

Most people know that an avalanche is a large mass of snow that detaches from a mountainside and rushes down the slope, often at a very high speed. However, not everyone
realizes that there are many different kinds of avalanches, with various causes and effects. Avalanches are categorized based on whether the snow is wet or dry, and whether or
not it is compacted. The four most common types are: dry snow, wet snow, wet slab, and dry slab. The least dangerous type is a dry snow avalanche, which is made up of
powdery snow. A dry snow avalanche most often occurs on steeper slopes during a snowstorm when the temperatures are below freezing. Despite the fact that they can reach
speeds of up to 225 miles per hour, these avalanches tend to be small, and their snow is loose, not compacted, so they are less dangerous. Yet even a dry snow avalanche can
cause harm under the right conditions.

A wet snow avalanche differs from a dry snow avalanche in that it consists of loose, partially melted snow and water. Wet snow avalanches generally occur during the
springtime when temperatures are consistently above freezing and there is an abundance of both sunshine and rainfall. The warmer temperatures and the sun melt the outer
layers of snow. The increased springtime rainfall saturates the snow with water, weakening the cohesive layers beneath the surface. The combination of these factors results in
unstable conditions. Wet snow avalanches are the least common type of avalanche, and they are much slower than dry snow avalanches, typically traveling at speeds of only
10-20 miles per hour.

Like a wet snow avalanche, a wet slab avalanche most often occurs during the spring, due to melting snow and increased rainfall. The additional moisture weakens the bonds
between the water molecules of the snow. Daytime melting and nighttime refreezing of the ice and snow create ideal conditions for a wet slab avalanche. This type of
avalanche is the slowest, generally travelling at a speed of no more than 10 miles per hour. But because the snow is compacted, not loose, a wet slab avalanche is still quite
dangerous even at this slow speed.

The last type, a dry slab avalanche, is the most dangerous of all. It occurs when substantial snowfall accumulates over a layer of existing snow in a very short period of time. The
stress caused by the weight of the newly fallen snow can make the compacted layer underneath break away. This creates a dry slab avalanche, which travels at speeds of 60-80
miles per hour. Dry slab avalanches account for roughly 90% of all avalanche-related casualties annually.

Millions of avalanches happen around the world each year, the vast majority of which occur naturally. However, nearly all of the avalanches that result in fatalities are triggered
by either the victim or someone in the victim’s party. Each year, approximately 150 people become casualties of an avalanche. Sadly, most of these avalanche accidents are
preventable. The first step in preventing avalanche related fatalities is to be better informed about the various types of avalanches and the conditions under which they occur..

O contradict a previous idea

() support a later point
() qualify an earlier statement

() introduce a larger idea

Answer of above question: qualify an earlier statement

Q39. As used in paragraph 3, which is the best synonym for saturates?
Directions: Read the passage. Then answer the questions below.

Most people know that an avalanche is a large mass of snow that detaches from a mountainside and rushes down the slope, often at a very high speed. However, not everyone
realizes that there are many different kinds of avalanches, with various causes and effects. Avalanches are categorized based on whether the snow is wet or dry, and whether or
not it is compacted. The four most common types are: dry snow, wet snow, wet slab, and dry slab. The least dangerous type is a dry snow avalanche, which is made up of
powdery snow. A dry snow avalanche most often occurs on steeper slopes during a snowstorm when the temperatures are below freezing. Despite the fact that they can reach
speeds of up to 225 miles per hour, these avalanches tend to be small, and their snow is loose, not compacted, so they are less dangerous. Yet even a dry snow avalanche can
cause harm under the right conditions.

A wet snow avalanche differs from a dry snow avalanche in that it consists of loose, partially melted snow and water. Wet snow avalanches generally occur during the
springtime when temperatures are consistently above freezing and there is an abundance of both sunshine and rainfall. The warmer temperatures and the sun melt the outer
layers of snow. The increased springtime rainfall saturates the snow with water, weakening the cohesive layers beneath the surface. The combination of these factors results in
unstable conditions. Wet snow avalanches are the least common type of avalanche, and they are much slower than dry snow avalanches, typically traveling at speeds of only
10-20 miles per hour.

Like a wet snow avalanche, a wet slab avalanche most often occurs during the spring, due to melting snow and increased rainfall. The additional moisture weakens the bonds
between the water molecules of the snow. Daytime melting and nighttime refreezing of the ice and snow create ideal conditions for a wet slab avalanche. This type of
avalanche is the slowest, generally travelling at a speed of no more than 10 miles per hour. But because the snow is compacted, not loose, a wet slab avalanche is still quite
dangerous even at this slow speed.



The last type, a dry slab avalanche, is the most dangerous of all. It occurs when substantial snowfall accumulates over a layer of existing snow in a very short period of time. The
stress caused by the weight of the newly fallen snow can make the compacted layer underneath break away. This creates a dry slab avalanche, which travels at speeds of 60-80
miles per hour. Dry slab avalanches account for roughly 90% of all avalanche-related casualties annually.

Millions of avalanches happen around the world each year, the vast majority of which occur naturally. However, nearly all of the avalanches that result in fatalities are triggered
by either the victim or someone in the victim’s party. Each year, approximately 150 people become casualties of an avalanche. Sadly, most of these avalanche accidents are
preventable. The first step in preventing avalanche related fatalities is to be better informed about the various types of avalanches and the conditions under which they occur..

O soaks
O damages
O covers

() dehydrates

Answer of above question: soaks

Q40. According to the passage, the main causes of wet snow and wet slab avalanches are
Directions: Read the passage. Then answer the questions below.

Most people know that an avalanche is a large mass of snow that detaches from a mountainside and rushes down the slope, often at a very high speed. However, not everyone
realizes that there are many different kinds of avalanches, with various causes and effects. Avalanches are categorized based on whether the snow is wet or dry, and whether or
not it is compacted. The four most common types are: dry snow, wet snow, wet slab, and dry slab. The least dangerous type is a dry snow avalanche, which is made up of
powdery snow. A dry snow avalanche most often occurs on steeper slopes during a snowstorm when the temperatures are below freezing. Despite the fact that they can reach
speeds of up to 225 miles per hour, these avalanches tend to be small, and their snow is loose, not compacted, so they are less dangerous. Yet even a dry snow avalanche can
cause harm under the right conditions.

A wet snow avalanche differs from a dry snow avalanche in that it consists of loose, partially melted snow and water. Wet snow avalanches generally occur during the
springtime when temperatures are consistently above freezing and there is an abundance of both sunshine and rainfall. The warmer temperatures and the sun melt the outer
layers of snow. The increased springtime rainfall saturates the snow with water, weakening the cohesive layers beneath the surface. The combination of these factors results in
unstable conditions. Wet snow avalanches are the least common type of avalanche, and they are much slower than dry snow avalanches, typically traveling at speeds of only
10-20 miles per hour.

Like a wet snow avalanche, a wet slab avalanche most often occurs during the spring, due to melting snow and increased rainfall. The additional moisture weakens the bonds
between the water molecules of the snow. Daytime melting and nighttime refreezing of the ice and snow create ideal conditions for a wet slab avalanche. This type of
avalanche is the slowest, generally travelling at a speed of no more than 10 miles per hour. But because the snow is compacted, not loose, a wet slab avalanche is still quite
dangerous even at this slow speed.

The last type, a dry slab avalanche, is the most dangerous of all. It occurs when substantial snowfall accumulates over a layer of existing snow in a very short period of time. The
stress caused by the weight of the newly fallen snow can make the compacted layer underneath break away. This creates a dry slab avalanche, which travels at speeds of 60-80
miles per hour. Dry slab avalanches account for roughly 90% of all avalanche-related casualties annually.

Millions of avalanches happen around the world each year, the vast majority of which occur naturally. However, nearly all of the avalanches that result in fatalities are triggered
by either the victim or someone in the victim’s party. Each year, approximately 150 people become casualties of an avalanche. Sadly, most of these avalanche accidents are
preventable. The first step in preventing avalanche related fatalities is to be better informed about the various types of avalanches and the conditions under which they occur..

O melting snow and increased rainfall

O decreased rainfall and warmer temperatures
O warmer temperatures and longer days

O shorter nights and melting snow

Answer of above question: melting snow and increased rainfall

Q41. As used in paragraph 4, which is the best antonym for ideal
Directions: Read the passage. Then answer the questions below.

Most people know that an avalanche is a large mass of snow that detaches from a mountainside and rushes down the slope, often at a very high speed. However, not everyone
realizes that there are many different kinds of avalanches, with various causes and effects. Avalanches are categorized based on whether the snow is wet or dry, and whether or
not it is compacted. The four most common types are: dry snow, wet snow, wet slab, and dry slab. The least dangerous type is a dry snow avalanche, which is made up of
powdery snow. A dry snow avalanche most often occurs on steeper slopes during a snowstorm when the temperatures are below freezing. Despite the fact that they can reach
speeds of up to 225 miles per hour, these avalanches tend to be small, and their snow is loose, not compacted, so they are less dangerous. Yet even a dry snow avalanche can
cause harm under the right conditions.

A wet snow avalanche differs from a dry snow avalanche in that it consists of loose, partially melted snow and water. Wet snow avalanches generally occur during the
springtime when temperatures are consistently above freezing and there is an abundance of both sunshine and rainfall. The warmer temperatures and the sun melt the outer
layers of snow. The increased springtime rainfall saturates the snow with water, weakening the cohesive layers beneath the surface. The combination of these factors results in
unstable conditions. Wet snow avalanches are the least common type of avalanche, and they are much slower than dry snow avalanches, typically traveling at speeds of only
10-20 miles per hour.

Like a wet snow avalanche, a wet slab avalanche most often occurs during the spring, due to melting snow and increased rainfall. The additional moisture weakens the bonds
between the water molecules of the snow. Daytime melting and nighttime refreezing of the ice and snow create ideal conditions for a wet slab avalanche. This type of
avalanche is the slowest, generally travelling at a speed of no more than 10 miles per hour. But because the snow is compacted, not loose, a wet slab avalanche is still quite
dangerous even at this slow speed.

The last type, a dry slab avalanche, is the most dangerous of all. It occurs when substantial snowfall accumulates over a layer of existing snow in a very short period of time. The
stress caused by the weight of the newly fallen snow can make the compacted layer underneath break away. This creates a dry slab avalanche, which travels at speeds of 60-80
miles per hour. Dry slab avalanches account for roughly 90% of all avalanche-related casualties annually.

Millions of avalanches happen around the world each year, the vast majority of which occur naturally. However, nearly all of the avalanches that result in fatalities are triggered
by either the victim or someone in the victim’s party. Each year, approximately 150 people become casualties of an avalanche. Sadly, most of these avalanche accidents are
preventable. The first step in preventing avalanche related fatalities is to be better informed about the various types of avalanches and the conditions under which they occur..

() predictable

O flawed
O unstable
O suitable



Answer of above question: flawed

Q42. Based on information in the passage, it can be inferred that which of the following statements is true?
Directions: Read the passage. Then answer the questions below.

Most people know that an avalanche is a large mass of snow that detaches from a mountainside and rushes down the slope, often at a very high speed. However, not everyone
realizes that there are many different kinds of avalanches, with various causes and effects. Avalanches are categorized based on whether the snow is wet or dry, and whether or
not it is compacted. The four most common types are: dry snow, wet snow, wet slab, and dry slab. The least dangerous type is a dry snow avalanche, which is made up of
powdery snow. A dry snow avalanche most often occurs on steeper slopes during a snowstorm when the temperatures are below freezing. Despite the fact that they can reach
speeds of up to 225 miles per hour, these avalanches tend to be small, and their snow is loose, not compacted, so they are less dangerous. Yet even a dry snow avalanche can
cause harm under the right conditions.

A wet snow avalanche differs from a dry snow avalanche in that it consists of loose, partially melted snow and water. Wet snow avalanches generally occur during the
springtime when temperatures are consistently above freezing and there is an abundance of both sunshine and rainfall. The warmer temperatures and the sun melt the outer
layers of snow. The increased springtime rainfall saturates the snow with water, weakening the cohesive layers beneath the surface. The combination of these factors results in
unstable conditions. Wet snow avalanches are the least common type of avalanche, and they are much slower than dry snow avalanches, typically traveling at speeds of only
10-20 miles per hour.

Like a wet snow avalanche, a wet slab avalanche most often occurs during the spring, due to melting snow and increased rainfall. The additional moisture weakens the bonds
between the water molecules of the snow. Daytime melting and nighttime refreezing of the ice and snow create ideal conditions for a wet slab avalanche. This type of
avalanche is the slowest, generally travelling at a speed of no more than 10 miles per hour. But because the snow is compacted, not loose, a wet slab avalanche is still quite
dangerous even at this slow speed.

The last type, a dry slab avalanche, is the most dangerous of all. It occurs when substantial snowfall accumulates over a layer of existing snow in a very short period of time. The
stress caused by the weight of the newly fallen snow can make the compacted layer underneath break away. This creates a dry slab avalanche, which travels at speeds of 60-80
miles per hour. Dry slab avalanches account for roughly 90% of all avalanche-related casualties annually.

Millions of avalanches happen around the world each year, the vast majority of which occur naturally. However, nearly all of the avalanches that result in fatalities are triggered
by either the victim or someone in the victim’s party. Each year, approximately 150 people become casualties of an avalanche. Sadly, most of these avalanche accidents are
preventable. The first step in preventing avalanche related fatalities is to be better informed about the various types of avalanches and the conditions under which they occur..

O Because it can travel at very high speeds, the dry snow avalanche is the most dangerous type.
O All avalanches, whether they are traveling at 10 miles per hour or 225 miles per hour, can be very dangerous.
O The speed at which an avalanche travels shares a direct correlation with the degree of danger it poses.

O Most casualties occur from wet slab avalanches.

Answer of above question: All avalanches, whether they are traveling at 10 miles per hour or 225 miles per hour, can be very dangerous.

Q43. Based on information in the passage, it can be inferred that wet slab avalanches and dry slab avalanches are the only two types that
Directions: Read the passage. Then answer the questions below.

Most people know that an avalanche is a large mass of snow that detaches from a mountainside and rushes down the slope, often at a very high speed. However, not everyone
realizes that there are many different kinds of avalanches, with various causes and effects. Avalanches are categorized based on whether the snow is wet or dry, and whether or
not it is compacted. The four most common types are: dry snow, wet snow, wet slab, and dry slab. The least dangerous type is a dry snow avalanche, which is made up of
powdery snow. A dry snow avalanche most often occurs on steeper slopes during a snowstorm when the temperatures are below freezing. Despite the fact that they can reach
speeds of up to 225 miles per hour, these avalanches tend to be small, and their snow is loose, not compacted, so they are less dangerous. Yet even a dry snow avalanche can
cause harm under the right conditions.

A wet snow avalanche differs from a dry snow avalanche in that it consists of loose, partially melted snow and water. Wet snow avalanches generally occur during the
springtime when temperatures are consistently above freezing and there is an abundance of both sunshine and rainfall. The warmer temperatures and the sun melt the outer
layers of snow. The increased springtime rainfall saturates the snow with water, weakening the cohesive layers beneath the surface. The combination of these factors results in
unstable conditions. Wet snow avalanches are the least common type of avalanche, and they are much slower than dry snow avalanches, typically traveling at speeds of only
10-20 miles per hour.

Like a wet snow avalanche, a wet slab avalanche most often occurs during the spring, due to melting snow and increased rainfall. The additional moisture weakens the bonds
between the water molecules of the snow. Daytime melting and nighttime refreezing of the ice and snow create ideal conditions for a wet slab avalanche. This type of
avalanche is the slowest, generally travelling at a speed of no more than 10 miles per hour. But because the snow is compacted, not loose, a wet slab avalanche is still quite
dangerous even at this slow speed.

The last type, a dry slab avalanche, is the most dangerous of all. It occurs when substantial snowfall accumulates over a layer of existing snow in a very short period of time. The
stress caused by the weight of the newly fallen snow can make the compacted layer underneath break away. This creates a dry slab avalanche, which travels at speeds of 60-80
miles per hour. Dry slab avalanches account for roughly 90% of all avalanche-related casualties annually.

Millions of avalanches happen around the world each year, the vast majority of which occur naturally. However, nearly all of the avalanches that result in fatalities are triggered
by either the victim or someone in the victim’s party. Each year, approximately 150 people become casualties of an avalanche. Sadly, most of these avalanche accidents are
preventable. The first step in preventing avalanche related fatalities is to be better informed about the various types of avalanches and the conditions under which they occur..

O consist of compacted snow

O travel at higher speeds

O occur at unexpected times of the year
O result from below freezing temperatures

Answer of above question: consist of compacted snow

Q44. According to the passage, the avalanche capable of reaching the highest speed is the
Directions: Read the passage. Then answer the questions below.

Most people know that an avalanche is a large mass of snow that detaches from a mountainside and rushes down the slope, often at a very high speed. However, not everyone
realizes that there are many different kinds of avalanches, with various causes and effects. Avalanches are categorized based on whether the snow is wet or dry, and whether or
not it is compacted. The four most common types are: dry snow, wet snow, wet slab, and dry slab. The least dangerous type is a dry snow avalanche, which is made up of
powdery snow. A dry snow avalanche most often occurs on steeper slopes during a snowstorm when the temperatures are below freezing. Despite the fact that they can reach
speeds of up to 225 miles per hour, these avalanches tend to be small, and their snow is loose, not compacted, so they are less dangerous. Yet even a dry snow avalanche can
cause harm under the right conditions.



A wet snow avalanche differs from a dry snow avalanche in that it consists of loose, partially melted snow and water. Wet snow avalanches generally occur during the
springtime when temperatures are consistently above freezing and there is an abundance of both sunshine and rainfall. The warmer temperatures and the sun melt the outer
layers of snow. The increased springtime rainfall saturates the snow with water, weakening the cohesive layers beneath the surface. The combination of these factors results in
unstable conditions. Wet snow avalanches are the least common type of avalanche, and they are much slower than dry snow avalanches, typically traveling at speeds of only
10-20 miles per hour.

Like a wet snow avalanche, a wet slab avalanche most often occurs during the spring, due to melting snow and increased rainfall. The additional moisture weakens the bonds
between the water molecules of the snow. Daytime melting and nighttime refreezing of the ice and snow create ideal conditions for a wet slab avalanche. This type of
avalanche is the slowest, generally travelling at a speed of no more than 10 miles per hour. But because the snow is compacted, not loose, a wet slab avalanche is still quite
dangerous even at this slow speed.

The last type, a dry slab avalanche, is the most dangerous of all. It occurs when substantial snowfall accumulates over a layer of existing snow in a very short period of time. The
stress caused by the weight of the newly fallen snow can make the compacted layer underneath break away. This creates a dry slab avalanche, which travels at speeds of 60-80
miles per hour. Dry slab avalanches account for roughly 90% of all avalanche-related casualties annually.

Millions of avalanches happen around the world each year, the vast majority of which occur naturally. However, nearly all of the avalanches that result in fatalities are triggered
by either the victim or someone in the victim’s party. Each year, approximately 150 people become casualties of an avalanche. Sadly, most of these avalanche accidents are
preventable. The first step in preventing avalanche related fatalities is to be better informed about the various types of avalanches and the conditions under which they occur..

O dry snow avalanche

O wet snow avalanche

() wetslab avalanche

() dryslab avalanche

Answer of above question: dry snow avalanche

Q45. The main purpose of the final paragraph is to
Directions: Read the passage. Then answer the questions below.

Most people know that an avalanche is a large mass of snow that detaches from a mountainside and rushes down the slope, often at a very high speed. However, not everyone
realizes that there are many different kinds of avalanches, with various causes and effects. Avalanches are categorized based on whether the snow is wet or dry, and whether or
not it is compacted. The four most common types are: dry snow, wet snow, wet slab, and dry slab. The least dangerous type is a dry snow avalanche, which is made up of
powdery snow. A dry snow avalanche most often occurs on steeper slopes during a snowstorm when the temperatures are below freezing. Despite the fact that they can reach
speeds of up to 225 miles per hour, these avalanches tend to be small, and their snow is loose, not compacted, so they are less dangerous. Yet even a dry snow avalanche can
cause harm under the right conditions.

A wet snow avalanche differs from a dry snow avalanche in that it consists of loose, partially melted snow and water. Wet snow avalanches generally occur during the
springtime when temperatures are consistently above freezing and there is an abundance of both sunshine and rainfall. The warmer temperatures and the sun melt the outer
layers of snow. The increased springtime rainfall saturates the snow with water, weakening the cohesive layers beneath the surface. The combination of these factors results in
unstable conditions. Wet snow avalanches are the least common type of avalanche, and they are much slower than dry snow avalanches, typically traveling at speeds of only
10-20 miles per hour.

Like a wet snow avalanche, a wet slab avalanche most often occurs during the spring, due to melting snow and increased rainfall. The additional moisture weakens the bonds
between the water molecules of the snow. Daytime melting and nighttime refreezing of the ice and snow create ideal conditions for a wet slab avalanche. This type of
avalanche is the slowest, generally travelling at a speed of no more than 10 miles per hour. But because the snow is compacted, not loose, a wet slab avalanche is still quite
dangerous even at this slow speed.

The last type, a dry slab avalanche, is the most dangerous of all. It occurs when substantial snowfall accumulates over a layer of existing snow in a very short period of time. The
stress caused by the weight of the newly fallen snow can make the compacted layer underneath break away. This creates a dry slab avalanche, which travels at speeds of 60-80
miles per hour. Dry slab avalanches account for roughly 90% of all avalanche-related casualties annually.

Millions of avalanches happen around the world each year, the vast majority of which occur naturally. However, nearly all of the avalanches that result in fatalities are triggered
by either the victim or someone in the victim’s party. Each year, approximately 150 people become casualties of an avalanche. Sadly, most of these avalanche accidents are
preventable. The first step in preventing avalanche related fatalities is to be better informed about the various types of avalanches and the conditions under which they occur..

O state the precise number of avalanche related causalities that happen each year
O describe how avalanches typically are triggered

O illustrate how tragic it can be to lose a friend in an avalanche-related incident
O suggest a way in which readers can help prevent avalanche related accidents

Answer of above question: suggest a way in which readers can help prevent avalanche related accidents

Q46.

afg a+b+c =0, Tl

01
Oa
Oo
O

Answer of above question: 1/3

Q47. The LCM of two numbers is 12 times their HCF. The sum of HCF and LCM is 403. If one number is 93, then find the other.
g1 il B1 aguH FHYade 3% Hedd GHads 1 12 1 2 | HeuH SHads 3R aqoad Sq9add &1 9

403 31 T2 U= A1 93 ©, o ool TE 91d S|
O 134
Q 130
O 128

None of these options

O etwEtem




None of these options

Answer of above question: =78 J HFE [dded 71

Q48. A textile manufacturing firm employees 50 looms. It makes fabrics for a branded company. The aggregate sales value of the output of the 50 looms is ¥ 500000 and the
monthly manufacturing expense is ¥ 150000. Assume that each loom contributes equally to the sales and manufacturing expenses. Monthly establishment charges are 375000.
If one loom breaks down and remains idle for one month, what is the decrease in profit?

U HUSl 0 S 50 FYal B & &3] 8| 98 UF dies $uq1 & [0 $Us a1 6| 50 &6l & Idg- &1 B
fawl grg 500000 FUF B o Wife o arg 150000 T08 B 99 o i vde wew fawt ok Pefo ag F
THF 0 § GREM &A1 & | FIfS RO f[eE 75000 TR £ A% UF FY91 ¢ 61 & R UF " aF IHR
TE@ B, @ oy H fradt St e 2

X 7,000
) 700wER
36,500
O esoo=m
38,000
() s000FT
X 7,500
() 7s00wwd

7,000
Answer of above question: 700 03

Q49. sum of money placed at compound interest doubles itself in 3 years. In how many years will it amount to 16 times itself?

THgis s TR T TS W 3 79 F Wy T S g at o) e vl | o5 wd #1116 T g S

8 years

() sad
None of these options
O @3 =i 3f fome 71
24 years

(O e

32 years

(O 2ad

None of these options

Answer of above question: z=8 & w5 1t fee 981

Q50. Directions: This question is followed by multiple statements. You have to study the question and all the statements given to decide whether any information provided in the
statement(s) is redundant and can be dispensed with while answering the given question.
How many workers are required for completing the harvesting work in 10 days?
. 20% of the harvesting work can be completed by 8 workers in 8 days.
[Il. 20 workers can complete the harvesting work in 16 days.
[ll. One-eighth of the harvesting work can be completed by 8 workers in 5 days.

femn-fEer 55 0y & 918 B3 &y Gy w ¥ snuet 9% Fiofo 89 & fow iy e wy ok faw o i sai @
a{m——%méﬁiwa?mﬁ“f}ﬁd‘l%‘ﬁ%LﬁWﬁ?%%aﬁ?ﬁquaﬂﬁ?éﬁwﬁmm
FHAT 2

Hels & & 10 G & U s & [ i Augd &1 el arit?

I. 20% Tl &1 &H & ¥aH! gri 8 ferl & g1 rg o 9&a 2

1. 20 FETgR wely &1 HM 16 A1 & 90 & F&d 5

Il1. FTT5 & HTH F1 AT541 ow1 & 4fa=! g1 5 &A1 & o fmn o1 9&ar 21

[ only
O 1Faa
[l and Ill only
O FHaan AR
[ and Il only
(O Faai R
[orllorlll

O 14 arm

lorllorlll
Answer of above question: 1 gIudrm

Q51. A man walking at a certain speed increases its speed to 2/3 times and reaches its destination 45 min earlier. How long will it take to reach the destination with the original
speed?
Us wied Us (a1 & 50 w61 2, & oo 13 B 203 T 91 39 W 45 e ugd oud Tider wH W Ugd 9 e
qrafde T 9 Tqor a9 Igaq | 99 oafed &I a1 §Hg T
120 min
O 120ftFe
90 min
() fFme
60 min
() eoftre
75 min

O 75 fime

90 min
Answer of above question: gq firFe

Q52. The ratio of marks obtained by Ritesh and Rakesh is 6:5. If the combined average of their percentage is 68.75 and their sum of the marks is 275, find the total marks for which
exam was conducted.



feamr 3R U™ g UTE i@ F1 U 65 &1 A I ORI BT Ggad HI6d 68.75 § SR S Sid! &1 4R 275 5,
T T T T Pl foge g odsn smifem 173 4

() 150
() 200
O 400
() 600

Answer of above question: 200

Q53. In how many ways can 5 beads of different colors form a necklace?

HT-HTFT T & 5 FF (S159) o IR ¥ U §R 791 96 87

010
012
011
OG

Answer of above question: 12

Q54. If the ratio of the sum of the first eight terms of a GP to the sum of the first four terms of the same GP is 9, what is the common ratio of that GP?

afE 5l GP % T 315 & & I 1 9HF GP % WYH 9K U1 & 41 9§ M0 9 B, 71 99 GP H1 9EF 0| 1
22

O 1
O 2
O 3
04

Answer of above question: 3

Q55. A machine gun can fire four shots at a time. If the probabilities of the first, second, third and the last shot hitting the target are 0.7, 0.6, 0.5 and 0.4, what is the probability that
four shots aimed at the target will bring the target destroy?

U ORiiH 74 UF 9K § IR ¥ic BN &2 9hd! o) afg ugell, gadl, died 3w sifom it & asg 8 oo S gua
0.7.06. 053X 043 91 STH! 301 SHeT & & vag o @fég 9 oic 088 =197 31 217

() 0084
O 0.916
O 0.036
O 0.964

Answer of above question: 0.964

Q56. Direction: Say we have three quantities A, B and C. Total value of Ais 80, Bis 64, Cis 100,AnB=4,AnC=5,BnC=7and AnBn C=2.Use the given data to answer
the following questions.
What is the values of only A?

THAfF TR I TR A T S @ fI v pa a0t ded e 100 undi=a und=5dnd=7
FRTN &N =2 FofafEa ud F w33 F i gy v da w1 swmm #
HaT A S 9H F18?

069
029
096
027

Answer of above question: 69

Q57. Direction: Say we have three quantities A, B and C. Total value of Ais 80, Bis 64, Cis 100,AnB=4,AnC=5,BnC=7and AnBn C=2.Usethe given data to answer the
following questions.

TAdfF R T AE T SR @ E v ea g a0 & de4 s 100 und=a und=5dfind=7
FAR YN N =2 FofafEa v F ow 33 F i Gy o s gwmr s

What is the value of only B?

Had B 1 AF F1 87
O st
O 15
O 19
O 17

Answer of above question: 51

Q58. whatisthevalue of 16 x yBx =8 ?
‘JEX‘}\;@ =8 ? a,—[w]iﬁ:[%
Q 2
Q 4
O s
O s
Answer of above question: 8

Q59. In an A.P. if the sum of 4th & 12th terms is ‘8’ then sum of first 15 terms is



TF AFHOET Wity & afe 918 3T 128 oSt F109m'e' & 1 U5 15 Uel &1 4m z

() 60
(O 120
(O 1o
O 150

Answer of above question: 60

Q60. A carpenter who fails to complete a site in a certain specified time is compelled to forfeit Rs 200 for the first day of extra time required and thereafter forfeited amount is
increased by Rs 25 for every day. If he loses 9,450, for how many days did he over-run the contract time?

T 5% w1 Us Hid U T 990 ¥ 0% 915 &1 W HE | Thd war e, 39 oTwe dii sm F ued T &
81T 200 TUH o F F Y Ao 3 ST & iR 39 91% Y &7 & i 25 399 #t 3fE #1 ot 81 g 39
9,450 1 IHEF BT &, G 36 b 1g-1 & 010 #{8% F97 & UK fHar?

19 days

O 19fm

21 days

O nfeq

23 days

O =fA

25 days
() A

21 days
Answer of above question: 21 f&q

Q61. The digits of a three-digit number A are written in the reverse order to form another three-digit number B. If B > A and B-A is perfectly divisible by 7, then which of the
following is necessarily true?

U O ] o] G A & 3l 1 e AR o9 el 51 9@ B H & o 3¢ & © forar o g1 afe B> A 3K B-
ATEfime g iy 2 AR d g eR w sfed sy 9@ 27

O 100 < A < 299

None of these options
O v =R
() M2<A<3M
() M8 <A<317

None of these options

Answer of above question: g% 4 15 fd@e T8]

Q62. There are two solutions of hydrocloric acid (acid + water) with concentrations of 50 % and 80% respectively. They are mixed in a certain ratio to get a 62% hydrocloric add
solution. This solution is mixed with liters of water to get back 50% solution. How much of the 80% solution has been used in the entire process?(In milliliters)

FHE: 50% T 80% P! Figal aTd SESEaie WS (RS + UF) & TEIYE 21 62% gEgEaie U SieeH Ui
& & foe 9% Us FfEd srqua & fram wmar 81 50% 91d argw o % e 59 9 o offe ot & fiyemn e g1
T3 wiEear & 80% ©1e =1 fEea-m guan faar mar 87 (e &)

O 15x 10 A3 ml
O 12 x 10A3 ml

O 10 x 10A3 ml

None of these options

O wR®E dfww

Answer of above question: 10 x 10~3 ml

Qé63. Ifa+§ = landb+§=1thenc+§ equal to

1 1_ 1
Hﬁ"a ’E = landblr 1Thenc}nwwé

01
Qa
01/2
Oo

Answer of above question: 1

Q64. Find the value of f(f(~2)), Ff(x) =
FUED) 070 = S mam gt aft

O 3
O 23
O 4/3
O o

Answer of above question: 2/3

Q65. Ina AABC, AB = AC and BA is produced to D such that AC = AD. Then the »BCD is
T% AABC #, AB = AC iR BASI D O 59 Wb g1 1 & fh AC = AD §1 T .BCD fa 8
(O 100°
O 60°
O so°
() 90°



Answer of above question: 90°

Q66. ABCD are corners of a rectanguler field of dimensions 6 m x 8 m. DE and BF are the perpendiculars drawn on the diagonal of the rectangle. The shaded field shows a paddy
crop and the unshaded one shows an empty field. So What is the ratio of the paddy field to that of the empty region?

O 7:3
O 16:9
O 4:3v2

Data insufficient

O sawwEs

Answer of above question: 16:9

Q67. Find the third vertex of the triangle whose two vertices are (-3, 1) and (0,-2) and the centroid is the origin.
T e &1 digw =i Ta Stk e g1 eid (-3, 1) 3T (0,-2) € ok 50 qu fig 21
O @3
() (-4/3,14/3)

none of these options
() sHIFE Ar el
O 64

none of these options

Answer of above question: 78 T @13 faded gl

Q68. The angle of elevation of the top of a electric pole at point on the ground is 30°. If on walking 20 metres toward the electric pole, the angle of elevation become 60°, then the
height of the electric pole is

oA Xt fog I e fowedt & @ & i &1 gaaa &1 30° 81 9fE fawiell & €4 31 3 20 diex 97 W Izmq
HIU 60° &1 O &, d fowrell & €N &1 T fwa-l &

10 meter

O wfixz
10/V3 meter

O 10/v3 HIe
10V 3 meter
O 10v3 Hex

None of these options

O FHIPE oW

10V3 meter
Answer of above question: 10v3 Hicx

Q69. Marks obtained by Meena in Chemistry is what percent of the total marks obtained by all the students in Chemistry?
1 g A T § i s 9+t el R e TeE # we $a ow &1 o dfowa 22
Directions: Study the following bar graph carefully to answer the questions.
Five students namely Sarthak, Asif, Rishu, Meena and Jini are termed as A, B, C, D and E .Marks obtained by them in Physics and Chemistry :-

26%

Q
O 35%
@,

28.5%
O 32%

Answer of above question: 26%

Q70. If the marks obtained by Jini in Physics were increased by 14% of the original marks, what would be his new approximate percentage in Physics if the maximum marks in
Physics were 1407

afe foft gr ifos B9 & we ofet & 9 HF F 14% F1 g8 T A 8, 7 Wifost § 39 707 A whied
1§ afg Hifas! & sfisan oiF 140 fad 22



Directions : Study the following bar graph carefully to answer the questions.
Five students namely Sarthak, Asif, Rishu, Meena and Jini are termed as A, B, C, D and E .Marks obtained by them in Physics and Chemistry :-

w w
oo N

8
41

000/

Answer of above question: 41

Q71. Fill in the blank space in order to make the sentence correct as per the given information. Total marks obtained by Jini in both the subjects together is more than the marks
obtained by
g1 SFeN & HUR 91 $1 1[G H & ol ad =E ®1 i sifve {55 g g favat ¥ e s s, s
SR U 3l § offiw g
Directions : Study the following bar graph carefully to answer the questions.
Five students namely Sarthak, Asif, Rishu, Meena and Jini are termed as A, B, C, D and E .Marks obtained by them in Physics and Chemistry :-

Asif in Chemistry
() v e & snfae

Rishu in Physics
O dfreidfg

Meena in Chemistry
O A fEmad

Sarthak in Physics
O e s

Rishu in Physics
Answer of above question: #ifgai# g

Q72. What is the respective ratio between the total marks obtained by Sarthak in Physics and Chemistry together to the total marks obtained by Jini in Physics and Chemistry

together?

s T o T fagm ¥ Ol g Ui oo el &1 ofiH1 g1 Wifae! 3w fag & v $a Sel & 9

Feifirg aroa F

Directions : Study the following bar graph carefully to answer the questions.

Five students namely Sarthak, Asif, Rishu, Meena and Jini are termed as A, B, C, D and E .Marks obtained by them in Physics and Chemistry :-

(O 32
() 20:10
O 53

O 10:20

Answer of above question: 20:10

Q73. What is the respective ratio between the total marks obtained by Asif and Meena together in Chemistry to the total marks obtained by Sarthak and Rishu together in Physics?
HITEE R =1 gRT 36 aeE & e T et w1 e A g g AifieEt ¥ uiw 5w ofF § sum g
feag?
Directions : Study the following bar graph carefully to answer the questions.
Five students namely Sarthak, Asif, Rishu, Meena and Jini are termed as A, B, C, D and E .Marks obtained by them in Physics and Chemistry :-



23:21

O
O 23:25
Q

19:17
O 17:19

Answer of above question: 23:21

Q74. DIRECTIONS: the question below consists of a question and two statements numbered (I) and (ll) given below it. You have to decide whether the data provided in the
statements are sufficient to answer the question. Read both statements and give the answer.
A man holding 7 cards in his hand. Four are ‘nines’ and three are ‘fives’. How many cards does he lay on the table?
(I) He lays a card on the table if the number on the card is divisible by 3.
(Il) He lays a card on the table if and only if the number n is divisible by 3.

frdm 2 Ru vy § Us Uy 3T SuE A9 31 @Y (1) R (1) BE U §) anuwt a8 90 e & wuEt § T
a1 E21 WY 1 39K o & (070 T B 1R EF1 #UE B U 3N ST 2

TF AeH FEUH 7 FS #1 IR A1 £ SR 9 O §1 95 790 W e w1 @A a7

(1) 75 B9 W UF FTS @l & afe F1s W ge 3§ By 2

(Il) T5 F9 I T 1S Tl & Tfe A Haa afg §@mn, 3§ Fursg &1

Directions : Study the following bar graph carefully to answer the questions.
Five students namely Sarthak, Asif, Rishu, Meena and Jini are termed as A, B, C, D and E .Marks obtained by them in Physics and Chemistry :-

Statement (I) ALONE is sufficient, but statement (Il) alone is not sufficient.
(O = (1) s waf 2, & Fu (1) i vafe 8 2
Statement (Il) ALONE is sufficient, but statement (I) alone is not sufficient
() = () %50 gai &, 3T od o (1) i T8 2
BOTH statements TOGETHER are sufficient, but NEITHER statement alone is sufficient.
() &t o ve T ot &, A wimd w1 ot wu Tt 8 R
EACH statement ALONE is sufficient
O v wu= s & mafm &

EACH statement ALONE is sufficient
Answer of above question: ydis v HFHm 5 gaE &

Q75. If a, b are the two roots of a quadratic equation such that a+ b=24 and a - b= 8, then the quadratic equation having a and b as its roots is

afg u, &t fgua e &1 31 98 & o fba+ b=243fT a - b= 8 dl a 3iX b B Wel & = & fgud vHeww g
O X2+4x+8 = 0
O x2-4x+8 = 0

O X2—24x+128=0
Q 2x2+8x+9=0

Answer of above question: x%>-24x+128=0

Q76. Neetu went to movies nine days ago. She goes to the movies only on Thursday. What day of the week is today?
i i 27 uge a2 71 ot 98 Toar &1 81 el & 9l 81 offel 9wE &1 S a1 fgq g

Saturday

O IR
Thursday

O Tm
Sunday

O <fmr
Tuesday

Oﬁﬂfﬁﬁ

Saturday
Answer of above question: mfaan

Q77. Directions:- In the question given below consists of a statement, followed by two arguments numbered | and II. You have to decide which of the arguments is a 'strong'
argument and which is a 'weak' argument. Give answer
Statement: Should there be a cap on maximum number of contestants for parliamentary elections in any constituency?



Arguments: |. Yes, This will make the parliamentary elections more meaningful as the voters can make a considered judgement for casting their vote.
IIl. No, In a democracy any person fulfilling the eligibility criteria can contest parliamentary elections and there should be no restrictions.

?grel%_ ﬁ%ﬂﬂﬁ%ﬁiﬁﬁmﬁéﬂ%, fored GH& gl ad 1 R 11 AT MY 51 U 4 T A1 § [ & W ddh "Hodd” b g AR dH 91 "HHAAR
| g

oy 7 [ ot Fafem g |, dudia gl & fom safieart & aiftean 9en ot s i g aifge
Td: 1. g, 3dadE gEl & 3R 21fbe wde 31 < ife S5d gaard 24U die 3o o fag U gfaaiid o T@d 3.
11 <81, @idds 4 Ur=dl &1 AFeS U &3 aral s 1 i §9¢1g g9 9 9al ¢ AR 15 Uidey g1 g1 g1igy|

if only argument | is strong.

Y Had o | Hwed 6 |

if only argument Il is strong.

R a0 9% || Ioad 8

if either | or Il is strong.

afg T al a1 | AweEn 2

if both argument | and Il are strong.

g b | 3R 11 S Horg g

O O O O

if both argument | and Il are strong.

afE T | 3R 11 ST AoeE 2

Answer of above question:

Q78. In the following question, you are given a figure (X) followed by four alternative figures (1), (2), (3) and (4) such that fig (X) is embedded in one of them. Trace out the alternative
figure which contains fig (X) as its part.

7w - Fufaf@a ny &, st oe arsa (x) & 75 ¢ s o8 9R defeas orsfa (1), 2), (3) R (@) Rum E 7=
o9 % 5 7 (X) 370 € Us | Sfafied a1 701 £, 99 S@itus Sia &1 ual oISy s HIE (X) 395 Uh
Y& F9 1 3l

1
2
3
4

O000O

Answer of above question: 4

Q79. Directions: In the question below are given certain statements followed by some conclusions. Choose the conclusion which follows from the given statements.
Statements: 1. A forest has as many sandal trees as it has Ashoka trees.

2. Three-fourths of the trees are old one and half of the trees are at the flowering stage.
Conclusions: (a) All Ashoka trees are at the flowering stage.

(b) All sandal trees are at the flowering stage.

(c) At least one-half of the Ashoka trees are old.

(d) One-half of the sandal trees are at the flowering stage.

(e) None of these.

i e Ry e vy O %8 &yl & a6 $8 ey U U 51 39 ey &l g ol feu 1 Sl | Head g
HYF: 1. UH o H 30 ol 96 & UG ¢ 1o A=H & U ol

2. @ TS U8 WE § 3R 2 98 Go 31 aa=n A B

=5y (a) i 2N & U8 Bo Gad @ a3

(b) Tt ¥ & US Bed T N A B g

(c) ®HEBH A s & T8 [WH o

(d) 3 9e & US e o o AT H

(e) TH I BIE eI

Answer of above question: e

Q80. Who among the following person participated in Basketball?
Fafafea d © fu aafd 4 andseara & ur fmn

Directions: Read the following information carefully and answer the questions.

There are seven persons — Mona, Pinky, john, Rashi, Shanu, Tinu and Umang — who participated in a sports competition which started on 25th March and ended on 31st March.
They participate in different kind of sports viz. Football, Cricket, Hockey, Skating, Rugby, Basketball and Badminton, but not necessarily in same order. They like different
colours, viz Green, Red, White, Grey, Blue, Black and Pink, but not necessarily in same order. Umang, who likes Black colour, participated on the fourth day of competition but
participated neither in Football nor in Cricket. Two performances were held between the performance of Umang and Tinu, neither of whom participated on 1st day of week.
There was one performance between performance of Rashi and john. But John did not participate either on 1st or on 3rd day of the competition. john likes Red colour and
participated in Football. The one, who participated in Hockey performed on the last day of 4competition, likes White colour. Pinky did not participate on day either immediately



before or immediately after performance of Rashi, who does not like either Blue or Green or Grey colour. Shanu participated in sports which are immediately after the
performance of john and he likes Green colour. Mona does not like Blue colour and participated in Skating. Rashi did not participate either in Badminton or in Basketball. One
who participated in Rugby was scheduled immediately after performance of player who participated in Football.

Umang
() AT
Rashi
O afy
Pinky
O fit
Either Pinky or Umang
(O =i it @ s

Either Pinky or Umang
Answer of above question: &1 gl fda! a1 34dm

Q81. Which of the following combinations is definitely false regarding their schedule?
Fefate d T o a1 daieH Fftd &u 3 999 o9t & T d a2
Directions-: Read the following information carefully and answer the questions.
There are seven persons — Mona, Pinky, john, Rashi, Shanu, Tinu and Umang — who participated in a sports competition which started on 25th March and ended on 31st March.
They participate in different kind of sports viz. Football, Cricket, Hockey, Skating, Rugby, Basketball and Badminton, but not necessarily in same order. They like different
colours, viz Green, Red, White, Grey, Blue, Black and Pink, but not necessarily in same order. Umang, who likes Black colour, participated on the fourth day of competition but
participated neither in Football nor in Cricket. Two performances were held between the performance of Umang and Tinu, neither of whom participated on 1st day of week.
There was one performance between performance of Rashi and john. But John did not participate either on 1st or on 3rd day of the competition. john likes Red colour and
participated in Football. The one, who participated in Hockey performed on the last day of 4competition, likes White colour. Pinky did not participate on day either immediately
before or immediately after performance of Rashi, who does not like either Blue or Green or Grey colour. Shanu participated in sports which are immediately after the
performance of john and he likes Green colour. Mona does not like Blue colour and participated in Skating. Rashi did not participate either in Badminton or in Basketball. One
who participated in Rugby was scheduled immediately after performance of player who participated in Football.

Umang-Black-Hockey
O wen-=ds-gia
Rashi -Pink-Cricket
O - o - fode
Mona -Grey-Skating
OR L EE
John-Red-Football

() SH-¥s-pesta

Umang-Black-Hockey
Answer of above question: FH-=&H-gla!

Q82. Which of the following combinations is true?
fFafefad o @ &I 91 9 99 32
Directions: Read the following information carefully and answer the questions.
There are seven persons — Mona, Pinky, john, Rashi, Shanu, Tinu and Umang — who participated in a sports competition which started on 25th March and ended on 31st March.
They participate in different kind of sports viz. Football, Cricket, Hockey, Skating, Rugby, Basketball and Badminton, but not necessarily in same order. They like different
colours, viz Green, Red, White, Grey, Blue, Black and Pink, but not necessarily in same order. Umang, who likes Black colour, participated on the fourth day of competition but
participated neither in Football nor in Cricket. Two performances were held between the performance of Umang and Tinu, neither of whom participated on 1st day of week.
There was one performance between performance of Rashi and john. But John did not participate either on 1st or on 3rd day of the competition. john likes Red colour and
participated in Football. The one, who participated in Hockey performed on the last day of 4competition, likes White colour. Pinky did not participate on day either immediately
before or immediately after performance of Rashi, who does not like either Blue or Green or Grey colour. Shanu participated in sports which are immediately after the
performance of john and he likes Green colour. Mona does not like Blue colour and participated in Skating. Rashi did not participate either in Badminton or in Basketball. One
who participated in Rugby was scheduled immediately after performance of player who participated in Football.



Mona's performance was held on the fifth day of the week.
(O @R & uiad e 71 o1 we=i o foar mar

Shaun likes Black color.
() ! P 1 e 3

Rashi participated in Football.
() = pesia # v fem

None of these

O s

None of these

Answer of above question: gFH T &g gl

Q83. Who among the following participated on the fifth day of the competition?
Frafafaa 3§ e wfaaifiar & gigd Gy femre
Directions:- Read the following information carefully and answer the questions.
There are seven persons — Mona, Pinky, john, Rashi, Shanu, Tinu and Umang — who participated in a sports competition which started on 25th March and ended on 31st March.
They participate in different kind of sports viz. Football, Cricket, Hockey, Skating, Rugby, Basketball and Badminton, but not necessarily in same order. They like different
colours, viz Green, Red, White, Grey, Blue, Black and Pink, but not necessarily in same order. Umang, who likes Black colour, participated on the fourth day of competition but
participated neither in Football nor in Cricket. Two performances were held between the performance of Umang and Tinu, neither of whom participated on 1st day of week.
There was one performance between performance of Rashi and john. But John did not participate either on 1st or on 3rd day of the competition. john likes Red colour and
participated in Football. The one, who participated in Hockey performed on the last day of 4competition, likes White colour. Pinky did not participate on day either immediately
before or immediately after performance of Rashi, who does not like either Blue or Green or Grey colour. Shanu participated in sports which are immediately after the
performance of john and he likes Green colour. Mona does not like Blue colour and participated in Skating. Rashi did not participate either in Badminton or in Basketball. One
who participated in Rugby was scheduled immediately after performance of player who participated in Football.

Shanu

O =M
Tinu
O R
John
OEL

Mona
O Hr
John
Answer of above question: iG]

Q84. If 'Umang’ is related to ‘Red’, 'Shanu’ is related to ‘White’, then which following is ‘Rashi’ related

to?
? ‘SHT HHEY d@ g, U STEeY 4a° e, o Heaed § 9 eE-al e S6ed o

p
Directions: Read the following information carefully and answer the questions.
There are seven persons — Mona, Pinky, john, Rashi, Shanu, Tinu and Umang — who participated in a sports competition which started on 25th March and ended on 31st March.
They participate in different kind of sports viz. Football, Cricket, Hockey, Skating, Rugby, Basketball and Badminton, but not necessarily in same order. They like different
colours, viz Green, Red, White, Grey, Blue, Black and Pink, but not necessarily in same order. Umang, who likes Black colour, participated on the fourth day of competition but
participated neither in Football nor in Cricket. Two performances were held between the performance of Umang and Tinu, neither of whom participated on 1st day of week.
There was one performance between performance of Rashi and john. But John did not participate either on 1st or on 3rd day of the competition. john likes Red colour and
participated in Football. The one, who participated in Hockey performed on the last day of 4competition, likes White colour. Pinky did not participate on day either immediately
before or immediately after performance of Rashi, who does not like either Blue or Green or Grey colour. Shanu participated in sports which are immediately after the
performance of john and he likes Green colour. Mona does not like Blue colour and participated in Skating. Rashi did not participate either in Badminton or in Basketball. One
who participated in Rugby was scheduled immediately after performance of player who participated in Football.



Blue

O

Black

O =@

Grey

O 3

Pink

O T

Black
Answer of above question: @Tel

Q85. Introducing a man, Sarita said, "His wife is the only daughter of my father." How is that man related to the Sarita?

TS S &1 Ufad & U U Iikal A 51, "S96! Tut 7 1 31 gait 91 ¢1" T8 SMeH 9l ¥ 59 mer
EIDCAY

Brother

O &

Father-in-law
O "=

Maternal uncle
O T

Husband
O @

Husband
Answer of above question: ofg

Q86. Directions: In each of the following letter series, some of the letters are missing which are given in that order as one of the alternatives below it. Choose the correct alternative.

P Pl vde seR Jem & o7 SR W & o 991 BH J gus A gy e d d ues F wu A gy
HERICEREIEPEES]

mn_pnop_op_npm_o

O ommo
O ommn
O nomm
() mnop

Answer of above question: ommn

Q87. How many triangles are there in the given figure ?

&S arfa F fse fiyw 22

40

Q
O 38

can not be counted

O Tt 78l &1 & @l

None of these options.

O =0 T =18 f fawe 78

None of these options.

Answer of above question: 8 ¥ 31 +ff faeen 78

)
(X) (Y) (Z)

Which numbers are hidden behind the numbers 6 and 5 in the die Z?



Z s U E T 6 SR 5 % Ui m i o e il gs o

1Tand 4

O 137 4

Tand 3

O 133

4 and 3

O 4373

Tand?2

O 132

1and 3
Answer of above question: 13X 3

Q89. Identify the single letter, which when removed from the following words to form a new words.
SH TS ek &1 upa-e. fod Feffes w7 § Feme w e 701 e s &l
MINK, LAMP, TEAM, WARM

Answer of above question: M

Q90. Statement: All needles are clocks.
Some clocks are rings.
Some rings are wheels.
Some wheels are buses.
Conclusions: |. Some buses are rings.
[Il. Some wheels are clocks.
[ll. Some wheels are needles.
IV. Some buses are clocks.
wy: Tt geal afeai E)
TS Uy o9 6
e | e 59 siffaal §1
Il F5 ofey, afgal 8

Ill $3 Ufey, g5 81
v TS o, ufgai §

In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to be at variance from
commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

i RRu T vy § 5@ sl & 918 oo e iy T §) fou U Sl & 9w w9ed gu. We §1 3 adaa ot @ fia
wdld gid &, 9yt freet &t ug i fipe Fvfa & i fou o el & @ &1 w1 fan o ol & aifhs w0 9 argerm
FXar el

None follows

O HIs HTFI A5l Hal
Only | follows
() Fem T IO BT §

Only Il follows

() F=mnsgEuaas
Only 11l follows

O T smRu st

None follows
Answer of above question:  @fg a0 Tl Heal

Q91. Ashish is 300 days older than Vansh and Pradeep is 50 weeks older than Aasish. If Pradeep was born on Tuesday, on which day was Vansh born?

ety 3w F 300 fam 521 2 3R v, =iy & 50 9wTe 9121 O W &1 9 WAER S g U1, 91 S F o
foo fa= gam ur?

Monday
() wmar

Thursday
O TR

Tuesday
() #TEEar

Monday
Answer of above question: qHaR



Q92. Four friends W X 'Y and Z are sitting in a coffee shop. W and X are sitting face to face. Z is not sitting face to face. Z is not sitting next of W but can see the facial expression of
W clearly. X is talking to Y who is sitting opposite to him who are sitting together?
TR GG W X Y 3T Z U B! fs g 5 83 81 W 3 X STH-918 88 §1 Z SH--915- el 981 81 Z, W & &7a
ﬂﬂﬁaé‘%l%,ﬁﬁﬂw%%ﬁﬂi g WE E0 Y s@ 9Sal el X, Y § 910 Y 181 § 9l 39 [ 881 6. & H B s
Y ?

WandY

O WY

W and Z
O W Z
ZandY

O zZ ATy

W and X
O W T T

WandY
Answer of above question: W XY

Q93. Statements: N @ D,D*K, K$ A

Conclusions: LK@ NILA©DII.N$A
FUTN@D, D K KSA
fremd LK@N 11.AGD NLNGA

Direction: In the following information question, the symbols $, %, @, © and are used with the following meaning as illustrated below:
‘P % Q 'means ‘P is neither greater than nor smallest than Q'.

‘P $ Q' means 'P is neither smallest than nor equal to Q.

‘P © Q' means 'P is neither greater than nor equal to Q'.

‘P * Q' means ‘P is not greater than Q.

‘P @ Q means ‘P is not smallest than Q.

Now in the following questions assuming the given

statements to be true, find which of the three conclusions

[, I 'and Ill given below them is are definitely true and give

your answer accordingly.

e Fefnfen g=w oy g e s, %, @, © i o sunm et e o o 2 s AR fmm mm e
PuQ @ dlg PAd QA Tsit R I STl

PSQ T e P QT Tl Siel & 3 7 & I9e st B

POQ I EP,QITGIESIE AR AE EIE |

PrQ@aE P QETSIAE T

P@QTalEP Qs g

2@ Ffeias uy F ter 99 g & 5w o oue o0 8, 9 oL, a1 8 S o e

T 9w e |, 11 3R 11 ST T 9 9 € oK TerER e TR 58

None is true
g W ew T2

O

Only I is true
() Fmmid=at
Only Il is true
O Fmmndwai
Only Ill is true

O Fmud==t

None is true

o dt a7

Answer of above question:

Q94. Amit starts walking towards North. After walking 15 metres, he turns towards South and walks 20 metres. Then he turns towards North and walks 10 metres. Then, again, he
walks 5 metres towards North. How far is he from her starting point and in which direction?
T TR BT R T09 qFE Fa 81 15 Hict 907 F 516 55 G160 $1 AR 95 701§ AR 20 Hex gadi g1 T

TW B AR ga1 & R 10 He ga@ 21 R, 78 iR ¥ 5 diex s 31 ot 9o §1 78 o= oo fig & ot
X AR frw femm & 82

10 metres, West
() 10HieR, ufzm

5 metres, East
O sHeR d

5 metres, North
() sHR 3N

10 metres, North

O 10 HIeR, I

10 metres, North
Answer of above question: 10 e, R

Q95. In the given figure, how many books are Mythological?

&2 asfy §, oot g IR &2



O 23

018
O 53
041

Answer of above question: 41

Q96. If MEKLF is coded as 91782 and LLLJK as 88867, then how can IGHED be coded ?
Tfe MEKLF 3 91782 3T LLLJK FT 88867 & &0 § &I a1 91 &, 91 IGHED &1 549 &8 fvgn wmomme

Q 97854

O 64521
Q 53410
Q 75632

Answer of above question: 53410

Q97.

Which set of numbers will represent the word “GATE"?
Tl 1 H -9 TG “GATE" TTeg &1 HaiRid Ha?

Given below are two matrices containing two classes of letters.

The rows and columns of matrix | are numbered from 0 to 4 and
that of Matrix Il from 5 to 9. A letter from these matrices can be
represented first by its row number and next by its column number.

e 21 amegg fay o E A ekl F g B

aftsa | =t dfaadl SR Tl F1 0 § 4 9% HHEd (91 T & 3T

TE TG | F15 9 9 TF | TASTSR! & 9 U U1 S8R 5l 9aal ¢ fosl updt suet ufed e ok a1g # 59 wH
e R SR S,

O 01, 14, 56, 59

O 89, 75, 86, 31
Q 79, 10, 20, 30
Q 57,68, 79, 98

Answer of above question: 89, 75, 86, 31

Q98. If '‘book’ is called 'watch', 'watch' is called 'bag’, 'bag' is called 'dictionary' and 'dictionary' is called 'window', which is used to carry the books ?

ofy frame &1 o, gt F1 dar, AT F1 Tee R AR Wed N & [Eee! $E 9l 8, 9 TN &1 ° o & g
fasaasT v s S 22

Dictionary
O w=wm
Bag
O o
Book

() feam

Watch
O =st

Dictionary
Answer of above question: T ®®E

Q99. The given equations follow the same rule. Find the missing number according to it.

feu o afiEn 5OF o0 &1 9w S B 599 SER W 99 7 S|

w
N

2
8
41
361

N
O

0000,

Answer of above question: 324

Q100. Select the related number from the given alternatives.

feu nu fGwmeal § § Sef4q 9@ =1 999 &4
2.25:13/4:3.75:7?



17/4

O
O 19/4
O

15/4

O 11/4

Answer of above question: 19/4

Q101. Indus Valley civilization is known:
1. For its town planning
2. For Mohenjodaro and Harappa
3. For their agricultural work
4. For its industrialization

T =TS T A &
1. ST T3 TATi=1aT &b fore
2. Aealical 3R gt o fore
3. 3Tk T A o forw
4. 55 HieirairetoT & few
Tand?2
O 132
1,2and 3
() 1233
2,3and 4
() 2334
All of these
() wim
All of these

Answer of above question: zuh T

Q102. Why were the Sufis cut off from the society?
Hitral &1 gara ° F91 Ferar @

The common people hated them.
() 3™ ol 37 A et |

They preferred solitude for meditation.
O & YT ToR Tehid ol alais o

Because of their mystic principles, they feared Muslim attacks.
() = Texrand) Fiell % o1 3o Ffoat getell ot T |

Sufis ere escapists.

() o wema=ar) Serk

They preferred solitude for meditation.
Answer of above question: & e T Ui @ dl=s col 2T

Q103. Which of the following tribes of India practice polyandry? Select the answer from the code given
1. Gonds
2. Nagas
3. Jaunsaris
4. Todas"
fafafed & § yra & 59 oot & sgafa v veia 22
e g daw g
178

2.1

3. SR

4. Tr3T
1and 2

(O 132

2 and 3

() 233

3and 4

O 33R4

1and 4
(O 134

3and 4
Answer of above question: 3 3T 4

Q104. National Renewal Fund (NRF) was introduced for the purpose of:
B AT IR I0T I (NRF)3524 o fore T2nfrd ferar aram 2
Rural reconstruction
() amaior gafision
Providing pension for retiring employees.
() varfige Qerarerearial Hi dew Suerey T
Social security

() menfors gam



Restructuring and modernisation of industries.

() it o gt iR smyffenton

Social security
Answer of above question: AT GL&T

Q105. Redistribution of income in a country can be brought about through
TeRetT 221 31 3T T GATIAToT feheieh BT Tehall ST HevclT &7

Progressive taxation combined with progressive expenditure

() vricreirer s wortcrefier care & TRy 6
Progressive taxation combined with regressive expenditure

() et ez & rr TR e arm
Regressive taxation combined with regressive expenditure

(O uftemsharar ufcemet e & 9 W
Regressive taxation combined with progressive expenditure

() warfreiier e & R T ufciamsh e

Progressive taxation combined with progressive expenditure
Answer of above question: UaTTc2 et EraT= WaTlch=fiel 2 o T Hh

Q106. Consider the following statements:
1. 21 Asian countries, including India, have signed an agreement to become the founding members of the Asian Infrastructure Investment Bank (AlIB).
2. AlIB is an international financial institution that was proposed by India.
3. The Headquarters of the AllB will be at Beijing,
Which of the statements given above is/are correct?

HFATTEd =T W) [eaR &

1. AR Hied 21 TRIATS 221 1 U SehReaaR Scvedic do (AlIB) & AU HEHd d<iel o [olT Ueh TSI UX eodlar Tt &
2. UHISHISH! Teh JcRTEI Terirg STl & Tordt TR el g1 Wt Teram aram |

3. THTSHTST ol FTEATCI difotar # glam|

SR e arw avr=At 3 I ol /A e v /e?
1 and 2 only
() 1329w
1 and 3 only

O 13k 3%
2 and 3 only

O 2 3T 3 el
All of these
() s welr

1 and 3 only
Answer of above question: 1 3¥ 3 thael

Q107. Which river is known as Singi Khamban?
o A6 1 et Wad & 1o § S SAars
Brahmaputra
O @A
Indus

O Ry

Yamuna

O T

Ganga
(O amn
Brahmaputra
Answer of above question: &g

Q108. Choose the following statements:
1.Textile is a fabric that is woven from fibres. It takes raw material like cotton or wool and the process called spinning turns it into yarn that is later used to create the fabric.
2 After that, textile industry expanded in Mumbai because of its warm, moist climate, facility of a port for importing machinery and exporting the output and above all the
availability of cheap labour.
Frefaras =y &1 3
1. ®UST UGT & T Y= & g1 91T 8 | 598 Sl Hid o ST O1 & (001 ol & X Sarg A8 Uied 58 40 § sed
&t & forae Iy ae § 9s1 99 & o fean o 21
2. IHF 91 HEs | TH, TH Sar, AR & S SR Faid & R e sevs 3 g ik e dee 95 o
&1 IO & FRU FIST I 1 TR g

Only 1 correct

() e 1 w8

Both are correct

O a-iwas

Only 2 correct

) waa2ad

Both are wrong

() aetaeas

Both are correct
Answer of above question: zZi=T TRl &



Q109. Which of the following is not related to an application software?

afafaad ¥ i 9rve volime gireday O g e e

Word processor
() abdrer
(O DBMS
Operating system
O sk s
Railway reservation system

(O o AR&ToT IOl

Operating system
Answer of above question: JmyfE e

Q110. Which of the following view is the best view to use when setting transition effects for all slides in a presentation?
ot 2T 37 T ToISSe o ToIT ETorelet Sthare 1 ehicl STl Tela=TTor &It 81 31 ehle] T o e 37eeil &7

Slide sorter view

O st
Notes page view

() Acagsea
Slide view

() wmswa
Outline view

() e

Slide sorter view
Answer of above question: TTss diet Ted

Q111. During dehydration what is the substance that is usually lost by the body?

ToreTelenToTeh Zie ae i AT uerd & S 3eAdiT oY ol gy = feam sman 2
Sugar

O <=
Sodium chloride
() whferaigs
Calcium phosphate
() ierme wicthe

Potassium chloride

O wRrm s

Sodium chloride

Answer of above question: HIfEaH FeiREs

Q112. Check these statements.
1. Brass is an alloy of Copper and Zinc.
2. Magnetite is the main ore of Aluminium.
3. Mercurius Solubilis are that substance which mainly involves mercury.
4. Potassium Nitrate (KNO3) is a chemical used in photography.
Which of the above are true?

Code:
S GAET o ST Y|

1. Ui, At 3R Teieh & fAsrag &

2. FTTeTSE U AT o UaE 3TH b

3. AR Wi afere a6 Uerd & et a7 §0 8 uRT el |

4, UTEfAT AT52E (KNO3) WICIITET 3 U Sl=T aTell Ueh THRIA &
IEFH A AT TTTL?

GES
1and 2

() 132

Tand 3

() 13k

2and 3

(O 23k

1,3and 4

O 1,334

1and 3
Answer of above question: 13il{3

Q113. A person is sitting in a car which is at rest. The reaction from the road at each of the four wheels of the car is R. When the car runs on a straight level road, how will the
reaction at either of the front wheels vary?

T cATth U I 7 /o & =i 3T UK | T <p =T UTedl 31 & Uelieh UY T5 3 Ui ehdl R & | 510 ST ST4 Tacel 956 W ool &, al 36T &6
ufedt & ¥ fopedt v U uiaferar thalt 21eft Herer arar?

It will be greater than R
() @wr¥ R

It will be less than R

() ruDARM



It will be equal to R

O AT R P AT oIl

It shall depend on the material of the road

O o wses & wwed w R s

It will be less than R
Answer of above question: r ¥ & BT

Q114. Which of the following statements are correct about paintings of upper paleolithic period?
1. Red colour was used for dancers
2. They used green colour for Hunters
Which of these statements are correct?
Aquraror a1 o Forst & a i Feafofaa s dala saaa aerse
1. A ert & Fore efter a1 o vriter e a2
2. 31 feEmet o fore oY o am waer et I

SeTal W hleT | h =T Tel 17
1 only

Both of them
O a=
Neither of them

O wwamsad

Neither of them
Answer of above question: 3= & HIS AT

Q115. What are the basic, functions of Public Accounts Committee (PAC)?
<l e B () 3 gy, P T
to examine the statement of accounts showing the income and expenditure of state corporations, trading and manufacturing schemes and projects.
() w=afamet, w3k feiorarsmnst 3 ofeismst S smr it @ g @t R s wen)
to examine the accounts of stores and stocks.
() R i & @t i e 5 &6 e
to examine the statement of accounts of autonomous bodies
O T [ienTal ok @i ok TEeoT &l e aleT o TorT
All of these
() swm as

to examine the statement of accounts showing the income and expenditure of state corporations, trading and manufacturing schemes and projects.

Answer of above question: == feamat, ST 3R AT T==3T 3R =t i 3m 3R = B eierarer WAt o faaReT S S )

Q116. Habitat loss and fragmentation, over-exploitation, alien species invasion and co-extinctionre causes for

Frary g 3R Taws=, #ia-aimor, fag el u=nfaal & 3mhavT 3R Ts- Tae]d al=t & o
Population exploitation
O SAHEIT ol 2T
Pollution

O v

Biodiversity loss

O safafruaret

Migration

O v

Biodiversity loss

Answer of above question: 3 faifereran s

Q117. Which of the following are the functions of Wetlands?
1) Water purification
2) Control rate of runoff in urban areas
3) Source of livelihood to local people
Select the correct option from the codes given below:
PeRfagd aaa g decsar e i
NEREINE]
2) ARTATAT i HqaTE o fAEAvTEY
3) T w1t & ST T S

=Arer few am e & Tl Reea o T o
Only 1 &2
O el 13 2
Only2 &3
() waw23iks
Only 1 &3
() waer13ika
1,28&3

(O 1,233



1,2&3
Answer of above question: 1, 2 3x 3

Q118. Which is the nodal agency for the Chips to Start-up (C2S) Programme?
R 7 weTe- 31 (c2s) Fwa & forw Asw vordrala drge
DRDO
O 2emést
C-DAC

O @&

BEL
O @
C-MET

O wwea

C-DAC
Answer of above question: HL.E®

Q119. In which city was the award for the best public transport system given by the Urban Affairs Ministry?
QTET AT o AT GRT TIAB T f3eh TRas=T ToTell e qRani fere e ot feam arare
Mumbai
O @
Surat

O

Gandhinagar
() midhaer
Lucknow

Ok

Surat
Answer of above question: T

Q120. Dyeing of acrylic is carried out by using
Tehi ot i LTS Teheteh Tater A1 el &

Vat dye

O =i
Cationic dye

O wmafass
Acid dye

() ResE
Disperse dye

O feards o

Cationic dye
Answer of above question: uaRIfEd 315

Q121. Which of the following fibres has excellent crease resistant?

AT # & e mga & 3cpE fis ufeRrdre?
Cotton

O v
Polyster

O \.%
Nylon

O a
Viscose

ORiizui

Polyster
Answer of above question: Tfferteex

Q122. Which one of the engine has longest crank shaft?
TRt SoteT 31 Taw oidl thab ATFT &2
In-line engine
O AT
Radial engine
() ®mwse=
Opposed engine
O fRdrsem
V-type engine
O dremugeH

In-line engine
Answer of above question: S-S 5ol

Q123. The steel used for making rail tracks is
Lol ol Ue iyl a=y @ TorT SEcaTe TRl A=t arell Wil &

tungsten steel

O s



manganese steel
O #Ei=rede

vanadium steel
O wRaawde

nickel steel

O Frawe

manganese steel

Answer of above question: ST

Q124. Which of the following is called a deep foundation?

TArafaTaa 1 ¥ iR ared i Fer AT &2

Raft foundation
O amia

Combined footing
O wamamim

Well foundation
O sedretrm

Trapezoidal footing

Well foundation

Answer of above question: 3z =g

Q125. Bronze is welded by

T gRT IS TR T &
Neutral flame

O FoEd =T

Carburizing flame
() wrdusfmwE

Oxidizing flame

() sfferdmetor ot
All of these
O saaw
Oxidizing flame
Answer of above question: 3ferdeRtor it

Q126. There is a change in the way Byju recognises revenue due to the mandate issued by its audit firm Deloitte Haskins and Sells

Read the statements given below in context of the delay in repayment decision taken by Byju’s and choose the most appropriate classification of the statement from the
options given:

T @1 e B SHize gn-g U8 9 gR O UG & SRY AGE B UgaH S & 0iie 1 96ad A1 3
e g1 e g QT ol 1 & o s 1 i e e sl @1 ug R e T e © © 9O & 9e Suga Fiee g

Byju’s decides to delay pending dues to Blackstone in $1 bn Aakash acquisition. Edtech decacorn Byju’s has decided to delay the final tranche of Rs 1,983 crore to private
equity firm Blackstone for the acquisition of Aakash Educational Services.

The company was supposed to clear the pending amount of the big-ticket acquisition to Aakash's investor - Blackstone by June 2022, which is now deferred to September
23, 2022.

Byju's, owned and operated by Think & Learn Pvt Ltd, announced its much delayed financial results for the financial year 2020-21 on September 14. The company’s
consolidated losses widened nearly 20 times to Rs 4,588.75 crore for the financial year ended March 2021 from Rs 231.69 crore in FY20. Revenue from operations marginally
grew from Rs 2,280.26 crore in FY21 from Rs 2,189 crore in the previous year. Its overall revenue declined a little over 3 per cent to Rs 2,428.39 crore in FY21 from Rs 2,511.77 in
the previous fiscal.

The company's overall expenses stood at Rs 7,027.47 crore in FY21, up from Rs 2,873.34 crore in FY20. Notably, a majority of its spending last year is attributed to ‘business
promotion expenses’ which is at Rs 2,251 crore, up from Rs 900 crore in the previous fiscal.

The company attributed the subdued growth to a change in the way it recognises revenue, as mandated by its audit firm Deloitte Haskins and Sells. In the past, it
recognised revenues of streaming services fully at the beginning of multi-year subscriptions which are now being booked over the period of consumption. Also, the loans
availed by its customers can't be recognised until the instalments are collected. This meant that the company could not book Rs 1,156 crore of revenue coming from deferred
payment terms in FY21.

"There was significant business growth in FY21 over FY20, but since this is the first year where new revenue recognition started because of a Covid-related business model
change, almost 40 per cent of the revenue was deferred to subsequent years. The rationalised growth between FY21 and FY20 is a result of the changes made in the way BYJU'S
recognises its revenue, as advised by its auditors,” the company said at the time of announcing the results.

As per the statement from the company, the Bengaluru-based firm clocked nearly Rs 10,000 crore in gross revenues in FY22, Rs 4,530 crore of which came during the April-
July period. The company also said Aakash and higher education platform Great Learning have since doubled their revenues.

Read the statements given below in context of the delay in repayment decision taken by Byju’s and choose the most appropriate classification of the statement
from the options given:



Major factor for making the decisions
fofa 77 & o e #Re

Minor factor for making the decisions
fyofa &3 & g arget (7o) SRS

Not relevant in making the decisions
Frof &3 & wrifires 7€ 2

Major objective in making the decisions

Q) Fefasd dvgasim

O O O

Not relevant in making the decisions

Answer of above question: fufg & & urifTe A8 &

Q127. The company'’s consolidated losses widened nearly 20 times

Read the statements given below in context of the delay in repayment decision taken by Byju’s and choose the most appropriate classification of the statement from the
options given:

&ul 1 gHfdsa gIel T 20 A1 5 T

&g &R o T geafa Fofr # 8 & we & J Ry o suet %1 92 ofk fiu T et # 9 wus &1 9sE 9
e a9

Byju's decides to delay pending dues to Blackstone in $1 bn Aakash acquisition. Edtech decacorn Byju's has decided to delay the final tranche of Rs 1,983 crore to private
equity firm Blackstone for the acquisition of Aakash Educational Services.

The company was supposed to clear the pending amount of the big-ticket acquisition to Aakash's investor - Blackstone by June 2022, which is now deferred to September
23, 2022.

Byju’s, owned and operated by Think & Learn Pvt Ltd, announced its much delayed financial results for the financial year 2020-21 on September 14. The company'’s
consolidated losses widened nearly 20 times to Rs 4,588.75 crore for the financial year ended March 2021 from Rs 231.69 crore in FY20. Revenue from operations marginally

grew from Rs 2,280.26 crore in FY21 from Rs 2,189 crore in the previous year. Its overall revenue declined a little over 3 per cent to Rs 2,428.39 crore in FY21 from Rs 2,511.77 in
the previous fiscal.

The company’s overall expenses stood at Rs 7,027.47 crore in FY21, up from Rs 2,873.34 crore in FY20. Notably, a majority of its spending last year is attributed to ‘business
promotion expenses’ which is at Rs 2,251 crore, up from Rs 900 crore in the previous fiscal.

The company attributed the subdued growth to a change in the way it recognises revenue, as mandated by its audit firm Deloitte Haskins and Sells. In the past, it recognised
revenues of streaming services fully at the beginning of multi-year subscriptions which are now being booked over the period of consumption. Also, the loans availed by its

customers can't be recognised until the instalments are collected. This meant that the company could not book Rs 1,156 crore of revenue coming from deferred payment terms
in FY21.

"There was significant business growth in FY21 over FY20, but since this is the first year where new revenue recognition started because of a Covid-related business model
change, almost 40 per cent of the revenue was deferred to subsequent years. The rationalised growth between FY21 and FY20 is a result of the changes made in the way BYJU'S
recognises its revenue, as advised by its auditors,” the company said at the time of announcing the results.

As per the statement from the company, the Bengaluru-based firm clocked nearly Rs 10,000 crore in gross revenues in FY22, Rs 4,530 crore of which came during the April-
July period. The company also said Aakash and higher education platform Great Learning have since doubled their revenues.

Read the statements given below in context of the delay in repayment decision taken by Byju’s and choose the most appropriate classification of the statement from
the options given:



Major factor for making the decisions
fofa 77 & o e #Re

Minor factor for making the decisions
fofa 3 & fou vl w1

Not relevant in making the decisions
Frofg &3 & i € 2

Major objective in making the decisions

O Frfras e st

O O O

Major factor for making the decisions

Answer of above question: f0fa & % fag vE RS

Q128. What as per you is the issue in the way Byju wanted to recognise revenues?

HIUS HTHR a0, fos e ¥ I 31 95gH He1 91eal o1, SHH 5 SO 87

Byju's decides to delay pending dues to Blackstone in $1 bn Aakash acquisition. Edtech decacorn Byju’s has decided to delay the final tranche of Rs 1,983 crore to private
equity firm Blackstone for the acquisition of Aakash Educational Services.

The company was supposed to clear the pending amount of the big-ticket acquisition to Aakash's investor - Blackstone by June 2022, which is now deferred to September
23, 2022.

Byju's, owned and operated by Think & Learn Pvt Ltd, announced its much delayed financial results for the financial year 2020-21 on September 14. The company's
consolidated losses widened nearly 20 times to Rs 4,588.75 crore for the financial year ended March 2021 from Rs 231.69 crore in FY20. Revenue from operations marginally
grew from Rs 2,280.26 crore in FY21 from Rs 2,189 crore in the previous year. Its overall revenue declined a little over 3 per cent to Rs 2,428.39 crore in FY21 from Rs 2,511.77 in
the previous fiscal.

The company’s overall expenses stood at Rs 7,027.47 crore in FY21, up from Rs 2,873.34 crore in FY20. Notably, a majority of its spending last year is attributed to ‘business
promotion expenses’ which is at Rs 2,251 crore, up from Rs 900 crore in the previous fiscal.

The company attributed the subdued growth to a change in the way it recognises revenue, as mandated by its audit firm Deloitte Haskins and Sells. In the past, it
recognised revenues of streaming services fully at the beginning of multi-year subscriptions which are now being booked over the period of consumption. Also, the loans
availed by its customers can't be recognised until the instalments are collected. This meant that the company could not book Rs 1,156 crore of revenue coming from deferred
payment terms in FY21.

“There was significant business growth in FY21 over FY20, but since this is the first year where new revenue recognition started because of a Covid-related business model
change, almost 40 per cent of the revenue was deferred to subsequent years. The rationalised growth between FY21 and FY20 is a result of the changes made in the way BYJU'S
recognises its revenue, as advised by its auditors,” the company said at the time of announcing the results.

As per the statement from the company, the Bengaluru-based firm clocked nearly Rs 10,000 crore in gross revenues in FY22, Rs 4,530 crore of which came during the April-
July period. The company also said Aakash and higher education platform Great Learning have since doubled their revenues.

Read the statements given below in context of the delay in repayment decision taken by Byju’s and choose the most appropriate classification of the statement from
the options given:



The auditors found it too complicated

() = o= A 52 357 s T

They did not explain it to all stakeholders
O I=H 59 94l edyRS! =1 78 gHhm

Their revenue recognition process ignores the fact that customers may drop out from the purchased plan mid term
() === Tora w0 vl §F 7 F 308 FE6 & 7 aee e g wE 9 die 4 gig 9w 2

All the given options are correct

O fumah o wd g

Their revenue recognition process ignores the fact that customers may drop out from the purchased plan mid term

Answer of above question: IT&1 ToE T WHT S T B TUMT A E [F IEE WE MO S S IS THhd &

Q129. Business promotions is what percentage of the overall expenses for Byju in FY 21
farorrg wem faw od 21 # au & oo @ o1 e e &

Byju's decides to delay pending dues to Blackstone in $1 bn Aakash acquisition. Edtech decacorn Byju’s has decided to delay the final tranche of Rs 1,983 crore to private
equity firm Blackstone for the acquisition of Aakash Educational Services.

The company was supposed to clear the pending amount of the big-ticket acquisition to Aakash's investor - Blackstone by June 2022, which is now deferred to September
23, 2022.

Byju's, owned and operated by Think & Learn Pvt Ltd, announced its much delayed financial results for the financial year 2020-21 on September 14. The company's
consolidated losses widened nearly 20 times to Rs 4,588.75 crore for the financial year ended March 2021 from Rs 231.69 crore in FY20. Revenue from operations marginally
grew from Rs 2,280.26 crore in FY21 from Rs 2,189 crore in the previous year. Its overall revenue declined a little over 3 per cent to Rs 2,428.39 crore in FY21 from Rs 2,511.77 in
the previous fiscal.

The company's overall expenses stood at Rs 7,027.47 crore in FY21, up from Rs 2,873.34 crore in FY20. Notably, a majority of its spending last year is attributed to ‘business
promotion expenses’ which is at Rs 2,251 crore, up from Rs 900 crore in the previous fiscal.

The company attributed the subdued growth to a change in the way it recognises revenue, as mandated by its audit firm Deloitte Haskins and Sells. In the past, it recognised
revenues of streaming services fully at the beginning of multi-year subscriptions which are now being booked over the period of consumption. Also, the loans availed by its
customers can't be recognised until the instalments are collected. This meant that the company could not book Rs 1,156 crore of revenue coming from deferred payment terms
in FY21.

"There was significant business growth in FY21 over FY20, but since this is the first year where new revenue recognition started because of a Covid-related business model
change, almost 40 per cent of the revenue was deferred to subsequent years. The rationalised growth between FY21 and FY20 is a result of the changes made in the way BYJU'S
recognises its revenue, as advised by its auditors,” the company said at the time of announcing the results.

As per the statement from the company, the Bengaluru-based firm clocked nearly Rs 10,000 crore in gross revenues in FY22, Rs 4,530 crore of which came during the April-
July period. The company also said Aakash and higher education platform Great Learning have since doubled their revenues.

Read the statements given below in context of the delay in repayment decision taken by Byju’s and choose the most appropriate classification of the statement
from the options given:



O 22%
() 32%
() 25%
() 28%

Answer of above question: 32%

Q130. What do you think is wrong with Byju's results/business model?
I F1 T & & T & Toia/faems afsa ¥ o1 Tad 82

Byju's decides to delay pending dues to Blackstone in $1 bn Aakash acquisition. Edtech decacorn Byju's has decided to delay the final tranche of Rs 1,983 crore to private
equity firm Blackstone for the acquisition of Aakash Educational Services.

The company was supposed to clear the pending amount of the big-ticket acquisition to Aakash's investor - Blackstone by June 2022, which is now deferred to September
23, 2022.

Byju’'s, owned and operated by Think & Learn Pvt Ltd, announced its much delayed financial results for the financial year 2020-21 on September 14. The company's
consolidated losses widened nearly 20 times to Rs 4,588.75 crore for the financial year ended March 2021 from Rs 231.69 crore in FY20. Revenue from operations marginally
grew from Rs 2,280.26 crore in FY21 from Rs 2,189 crore in the previous year. Its overall revenue declined a little over 3 per cent to Rs 2,428.39 crore in FY21 from Rs 2,511.77 in
the previous fiscal.

The company'’s overall expenses stood at Rs 7,027.47 crore in FY21, up from Rs 2,873.34 crore in FY20. Notably, a majority of its spending last year is attributed to ‘business
promotion expenses’ which is at Rs 2,251 crore, up from Rs 900 crore in the previous fiscal.

The company attributed the subdued growth to a change in the way it recognises revenue, as mandated by its audit firm Deloitte Haskins and Sells. In the past, it recognised
revenues of streaming services fully at the beginning of multi-year subscriptions which are now being booked over the period of consumption. Also, the loans availed by its
customers can't be recognised until the instalments are collected. This meant that the company could not book Rs 1,156 crore of revenue coming from deferred payment terms
in FY21.

“There was significant business growth in FY21 over FY20, but since this is the first year where new revenue recognition started because of a Covid-related business model
change, almost 40 per cent of the revenue was deferred to subsequent years. The rationalised growth between FY21 and FY20 is a result of the changes made in the way BYJU'S
recognises its revenue, as advised by its auditors,” the company said at the time of announcing the results.

As per the statement from the company, the Bengaluru-based firm clocked nearly Rs 10,000 crore in gross revenues in FY22, Rs 4,530 crore of which came during the April-
July period. The company also said Aakash and higher education platform Great Learning have since doubled their revenues.

Read the statements given below in context of the delay in repayment decision taken by Byju’s and choose the most appropriate classification of the statement from
the options given:

It is struggling to grow

O e & oy o s vw @
It is struggling to control expenses
O Tl X g s § e g1 e
It is struggling to generate profits
() mgwrsam$ e e
All of the given options

O fmmadfsw

All of the given options
Answer of above question: & 7y Tt G

Q131. If Microsoft is investing USD 10 billion then what percentage of ownership they are assuming?
afg Microsoft 10 f&fema smlie! sTor &1 a9 &2 W@ & 41 @ fvas wiowe @@ AR w© &2
OpenAl decides to monetise ChatGPT: ChatGPT, widely considered as the revolution Al sector had been direly looking for, has been a free service so far, and has taken the
internet by storm.
In an announcement on the company'’s official Discord server, OpenAl shared that it was actively looking into ways to monetize ChatGPT as one of the methods to ensure its
“long-term viability.” At this moment, the chatbot is burning a hole in its pocket, but this could change with the upcoming, ChatGPT Professional.

It will be interesting to see how it performs, given that the New York City Department of Education has already banned access to ChatGPT, while the International Conference
on Machine Learning (ICML) banned authors from ChatGPT to write their scientific papers.



In a tweet in December, OpenAl CEO Sam Altman described the computer costs as “eye-watering,” and added that their plan to monetize the chatbot is top priority now.

In the waitlist, OpenAl reveals some of the benefits of using ChatGPT Professional. These include faster responses from the chatbot, at least twice the regular daily limit of
messages, and no blackout periods at all.

This also comes amidst reports of Microsoft looking to invest around $10 billion in OpenAl — thus valuing the company at $29 billion — and integrating it for a “smarter” Bing.
OpenAl is already under pressure to turn a profit — ChatGPT's operating expenses amount to a few cents per chat in total compute costs, which makes it impractical to keep the
chatbot completely free. According to a previous Reuters report last year, the company expects $200 million in revenue this year [FY 21-22] and $1 billion by 2024.

Cannot be calculated
O o 78 & v
Around 34% or more
O T 34% AT S
Less than 20%
() 20%d==
Less than 15%
() 1s%d®n

Around 34% or more
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Q132. The chatbot is burning a hole in OpenAl's pocket
Read the statement given above and choose the most appropriate classification of the statement from the options given:
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OpenAl decides to monetise ChatGPT: ChatGPT, widely considered as the revolution Al sector had been direly looking for, has been a free service so far, and has taken the
internet by storm.
In an announcement on the company’s official Discord server, OpenAl shared that it was actively looking into ways to monetize ChatGPT as one of the methods to ensure its
“long-term viability.” At this moment, the chatbot is burning a hole in its pocket, but this could change with the upcoming, ChatGPT Professional.

It will be interesting to see how it performs, given that the New York City Department of Education has already banned access to ChatGPT, while the International
Conference on Machine Learning (ICML) banned authors from ChatGPT to write their scientific papers.

In a tweet in December, OpenAl CEO Sam Altman described the computer costs as “eye-watering,” and added that their plan to monetize the chatbot is top priority now.

In the waitlist, OpenAl reveals some of the benefits of using ChatGPT Professional. These include faster responses from the chatbot, at least twice the regular daily limit of
messages, and no blackout periods at all.

This also comes amidst reports of Microsoft looking to invest around $10 billion in OpenAl — thus valuing the company at $29 billion — and integrating it for a “smarter”
Bing. OpenAl is already under pressure to turn a profit — ChatGPT's operating expenses amount to a few cents per chat in total compute costs, which makes it impractical to
keep the chatbot completely free. According to a previous Reuters report last year, the company expects $200 million in revenue this year [FY 21-22] and $1 billion by 2024.

Major factor for making the decisions
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Major factor for making the decisions
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Q133. New York City Department of Education has banned access to ChatGPT
Read the statement given above and choose the most appropriate classification of the statement from the options given:
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OpenAl decides to monetise ChatGPT: ChatGPT, widely considered as the revolution Al sector had been direly looking for, has been a free service so far, and has taken the
internet by storm.

In an announcement on the company'’s official Discord server, OpenAl shared that it was actively looking into ways to monetize ChatGPT as one of the methods to ensure
its “long-term viability.” At this moment, the chatbot is burning a hole in its pocket, but this could change with the upcoming, ChatGPT Professional.

It will be interesting to see how it performs, given that the New York City Department of Education has already banned access to ChatGPT, while the International
Conference on Machine Learning (ICML) banned authors from ChatGPT to write their scientific papers.
In a tweet in December, OpenAl CEO Sam Altman described the computer costs as “eye-watering,” and added that their plan to monetize the chatbot is top priority now.

In the waitlist, OpenAl reveals some of the benefits of using ChatGPT Professional. These include faster responses from the chatbot, at least twice the regular daily limit of
messages, and no blackout periods at all.

This also comes amidst reports of Microsoft looking to invest around $10 billion in OpenAl - thus valuing the company at $29 billion — and integrating it for a “smarter”
Bing. OpenAl is already under pressure to turn a profit — ChatGPT's operating expenses amount to a few cents per chat in total compute costs, which makes it impractical to
keep the chatbot completely free. According to a previous Reuters report last year, the company expects $200 million in revenue this year [FY 21-22] and $1 billion by 2024.
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Q134. What as per your reading is a Discord server?
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OpenAl decides to monetise ChatGPT: ChatGPT, widely considered as the revolution Al sector had been direly looking for, has been a free service so far, and has taken the
internet by storm.
In an announcement on the company'’s official Discord server, OpenAl shared that it was actively looking into ways to monetize ChatGPT as one of the methods to ensure
its “long-term viability.” At this moment, the chatbot is burning a hole in its pocket, but this could change with the upcoming, ChatGPT Professional.

It will be interesting to see how it performs, given that the New York City Department of Education has already banned access to ChatGPT, while the International
Conference on Machine Learning (ICML) banned authors from ChatGPT to write their scientific papers.
In a tweet in December, OpenAl CEO Sam Altman described the computer costs as “eye-watering,” and added that their plan to monetize the chatbot is top priority now.

In the waitlist, OpenAl reveals some of the benefits of using ChatGPT Professional. These include faster responses from the chatbot, at least twice the regular daily limit of
messages, and no blackout periods at all.

This also comes amidst reports of Microsoft looking to invest around $10 billion in OpenAl - thus valuing the company at $29 billion — and integrating it for a “smarter”
Bing. OpenAl is already under pressure to turn a profit — ChatGPT's operating expenses amount to a few cents per chat in total compute costs, which makes it impractical to
keep the chatbot completely free. According to a previous Reuters report last year, the company expects $200 million in revenue this year [FY 21-22] and $1 billion by 2024



A server to record any grievances
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Q135. What kind of annual growth rate is OpenAl assuming for ChatGPT?
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OpenAl decides to monetise ChatGPT: ChatGPT, widely considered as the revolution Al sector had been direly looking for, has been a free service so far, and has taken the
internet by storm.

In an announcement on the company’s official Discord server, OpenAl shared that it was actively looking into ways to monetize ChatGPT as one of the methods to ensure
its “long-term viability.” At this moment, the chatbot is burning a hole in its pocket, but this could change with the upcoming, ChatGPT Professional.

It will be interesting to see how it performs, given that the New York City Department of Education has already banned access to ChatGPT, while the International
Conference on Machine Learning (ICML) banned authors from ChatGPT to write their scientific papers.

In a tweet in December, OpenAl CEO Sam Altman described the computer costs as “eye-watering,” and added that their plan to monetize the chatbot is top priority now.

In the waitlist, OpenAl reveals some of the benefits of using ChatGPT Professional. These include faster responses from the chatbot, at least twice the regular daily limit of
messages, and no blackout periods at all.

This also comes amidst reports of Microsoft looking to invest around $10 billion in OpenAl - thus valuing the company at $29 billion — and integrating it for a “smarter”
Bing. OpenAl is already under pressure to turn a profit — ChatGPT's operating expenses amount to a few cents per chat in total compute costs, which makes it impractical to
keep the chatbot completely free. According to a previous Reuters report last year, the company expects $200 million in revenue this year [FY 21-22] and $1 billion by 2024
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Q136. Edgile has experienced cybersecurity and risk management professionals
Read the statement given above and choose the most appropriate classification of the statement from the options given:
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Wipro to acquire cybersecurity provider Edgile for $230 million. Wipro on Monday said it will acquire Austin, Texas-headquartered Edgile for USD 230 million, a move that
will strengthen the IT major's play in the cybersecurity services space.

Edgile's experienced cybersecurity and risk management professionals will allow Wipro to further enhance its cybersecurity and risk consulting capabilities for the benefit of
its customers, a regulatory filing said.

In addition, the company's 'strategy-first' approach and 'Quick Start' solutions will allow the combined entity to deliver enhanced value in strategic cybersecurity services, it
added.

Founded in 2001, Edgile is an information security consulting firm providing professional services, primarily focused on delivering cybersecurity and risk management
consulting services to corporations. It is privately held and has an onsite workforce of 182 employees. Its revenue for the year ended December 31, 2020, stood at USD 44.1
million.

"Adding Edgile's strategic consulting capabilities and launching Wipro CyberTransform are significant milestones on our journey to becoming the trusted partner to
security leaders and boardroom stakeholders. | see the team blending very well with Wipro's CyberSecurists to deliver transformational cybersecurity on a global scale," Wipro
Senior Vice President and Global Head Cybersecurity & Risk Services Tony Buffomante said.

Together, Wipro and Edgile will develop Wipro CyberTransform, an integrated suite that will help enterprises enhance boardroom governance of cybersecurity risk, invest
in robust cyber strategies, and reap the value of practical security in action, the filing said.

"Our collective full spectrum of cybersecurity risk consulting and security management capabilities will help our global customers to continue to securely embrace their
digital transformation journey and sustain their on-going risk management priorities," Edgile Chief Executive Officer Don Elledge said.

Earlier this year, Wipro strengthened its cybersecurity business by acquiring Ampion, a provider of cybersecurity services in Australia, and the cybersecurity practice at
Capco, a consultancy in the BFSI sector in Europe and the US. Additionally, through its Wipro Ventures arm, the company continues to invest in cybersecurity startups.

Major factor for making the decisions
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Q137. The move will strengthen the IT major's play in the cybersecurity services space.

Read the statement given above and choose the most appropriate classification of the statement from the options given:
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Wipro to acquire cybersecurity provider Edgile for $230 million. Wipro on Monday said it will acquire Austin, Texas-headquartered Edgile for USD 230 million, a move that
will strengthen the IT major's play in the cybersecurity services space.

Edgile's experienced cybersecurity and risk management professionals will allow Wipro to further enhance its cybersecurity and risk consulting capabilities for the benefit of
its customers, a regulatory filing said.

In addition, the company's 'strategy-first' approach and 'Quick Start' solutions will allow the combined entity to deliver enhanced value in strategic cybersecurity services, it
added.

Founded in 2001, Edgile is an information security consulting firm providing professional services, primarily focused on delivering cybersecurity and risk management
consulting services to corporations. It is privately held and has an onsite workforce of 182 employees. Its revenue for the year ended December 31, 2020, stood at USD 44.1
million.

"Adding Edgile's strategic consulting capabilities and launching Wipro CyberTransform are significant milestones on our journey to becoming the trusted partner to security
leaders and boardroom stakeholders. | see the team blending very well with Wipro's CyberSecurists to deliver transformational cybersecurity on a global scale," Wipro Senior
Vice President and Global Head Cybersecurity & Risk Services Tony Buffomante said.

Together, Wipro and Edgile will develop Wipro CyberTransform, an integrated suite that will help enterprises enhance boardroom governance of cybersecurity risk, invest in
robust cyber strategies, and reap the value of practical security in action, the filing said.



"Our collective full spectrum of cybersecurity risk consulting and security management capabilities will help our global customers to continue to securely embrace their
digital transformation journey and sustain their on-going risk management priorities," Edgile Chief Executive Officer Don Elledge said.

Earlier this year, Wipro strengthened its cybersecurity business by acquiring Ampion, a provider of cybersecurity services in Australia, and the cybersecurity practice at
Capco, a consultancy in the BFSI sector in Europe and the US. Additionally, through its Wipro Ventures arm, the company continues to invest in cybersecurity startups.
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Q138. Together, Wipro and Edgile will be able to develop Wipro CyberTransform
Read the statement given above and choose the most appropriate classification of the statement from the options given:
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Wipro to acquire cybersecurity provider Edgile for $230 million. Wipro on Monday said it will acquire Austin, Texas-headquartered Edgile for USD 230 million, a move that will
strengthen the IT major's play in the cybersecurity services space.

Edgile's experienced cybersecurity and risk management professionals will allow Wipro to further enhance its cybersecurity and risk consulting capabilities for the benefit of
its customers, a regulatory filing said.

In addition, the company's 'strategy-first' approach and 'Quick Start' solutions will allow the combined entity to deliver enhanced value in strategic cybersecurity services, it
added.

Founded in 2001, Edgile is an information security consulting firm providing professional services, primarily focused on delivering cybersecurity and risk management

consulting services to corporations. It is privately held and has an onsite workforce of 182 employees. Its revenue for the year ended December 31, 2020, stood at USD 44.1
million.

"Adding Edgile's strategic consulting capabilities and launching Wipro CyberTransform are significant milestones on our journey to becoming the trusted partner to security
leaders and boardroom stakeholders. | see the team blending very well with Wipro's CyberSecurists to deliver transformational cybersecurity on a global scale," Wipro Senior
Vice President and Global Head Cybersecurity & Risk Services Tony Buffomante said.

Together, Wipro and Edgile will develop Wipro CyberTransform, an integrated suite that will help enterprises enhance boardroom governance of cybersecurity risk, invest in
robust cyber strategies, and reap the value of practical security in action, the filing said.

"Our collective full spectrum of cybersecurity risk consulting and security management capabilities will help our global customers to continue to securely embrace their
digital transformation journey and sustain their on-going risk management priorities,” Edgile Chief Executive Officer Don Elledge said.

Earlier this year, Wipro strengthened its cybersecurity business by acquiring Ampion, a provider of cybersecurity services in Australia, and the cybersecurity practice at
Capco, a consultancy in the BFSI sector in Europe and the US. Additionally, through its Wipro Ventures arm, the company continues to invest in cybersecurity startups.
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Q139. The company favours a 'strategy-first' and 'Quick Start' based approach to the market

Read the statement given above and choose the most appropriate classification of the statement from the options given:
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Wipro to acquire cybersecurity provider Edgile for $230 million. Wipro on Monday said it will acquire Austin, Texas-headquartered Edgile for USD 230 million, a move that
will strengthen the IT major's play in the cybersecurity services space.

Edgile's experienced cybersecurity and risk management professionals will allow Wipro to further enhance its cybersecurity and risk consulting capabilities for the benefit of
its customers, a regulatory filing said.

In addition, the company's 'strategy-first' approach and 'Quick Start' solutions will allow the combined entity to deliver enhanced value in strategic cybersecurity services, it
added.
Founded in 2001, Edgile is an information security consulting firm providing professional services, primarily focused on delivering cybersecurity and risk management

consulting services to corporations. It is privately held and has an onsite workforce of 182 employees. Its revenue for the year ended December 31, 2020, stood at USD 44.1
million.

"Adding Edgile's strategic consulting capabilities and launching Wipro CyberTransform are significant milestones on our journey to becoming the trusted partner to
security leaders and boardroom stakeholders. | see the team blending very well with Wipro's CyberSecurists to deliver transformational cybersecurity on a global scale," Wipro
Senior Vice President and Global Head Cybersecurity & Risk Services Tony Buffomante said.

Together, Wipro and Edgile will develop Wipro CyberTransform, an integrated suite that will help enterprises enhance boardroom governance of cybersecurity risk, invest in
robust cyber strategies, and reap the value of practical security in action, the filing said.

"Our collective full spectrum of cybersecurity risk consulting and security management capabilities will help our global customers to continue to securely embrace their
digital transformation journey and sustain their on-going risk management priorities," Edgile Chief Executive Officer Don Elledge said.

Earlier this year, Wipro strengthened its cybersecurity business by acquiring Ampion, a provider of cybersecurity services in Australia, and the cybersecurity practice at
Capco, a consultancy in the BFSI sector in Europe and the US. Additionally, through its Wipro Ventures arm, the company continues to invest in cybersecurity startups
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Q140. Wipro has valued Edgile basis a multiple of its existing revenues. What is this multiple?
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Wipro to acquire cybersecurity provider Edgile for $230 million. Wipro on Monday said it will acquire Austin, Texas-headquartered Edgile for USD 230 million, a move that
will strengthen the IT major’s play in the cybersecurity services space.

Edgile's experienced cybersecurity and risk management professionals will allow Wipro to further enhance its cybersecurity and risk consulting capabilities for the benefit of
its customers, a regulatory filing said.
In addition, the company's 'strategy-first' approach and 'Quick Start' solutions will allow the combined entity to deliver enhanced value in strategic cybersecurity services, it
added.

Founded in 2001, Edgile is an information security consulting firm providing professional services, primarily focused on delivering cybersecurity and risk management
consulting services to corporations. It is privately held and has an onsite workforce of 182 employees. Its revenue for the year ended December 31, 2020, stood at USD 44.1
million.

"Adding Edgile's strategic consulting capabilities and launching Wipro CyberTransform are significant milestones on our journey to becoming the trusted partner to
security leaders and boardroom stakeholders. | see the team blending very well with Wipro's CyberSecurists to deliver transformational cybersecurity on a global scale," Wipro
Senior Vice President and Global Head Cybersecurity & Risk Services Tony Buffomante said.

Together, Wipro and Edgile will develop Wipro CyberTransform, an integrated suite that will help enterprises enhance boardroom governance of cybersecurity risk, invest in
robust cyber strategies, and reap the value of practical security in action, the filing said.

"Our collective full spectrum of cybersecurity risk consulting and security management capabilities will help our global customers to continue to securely embrace their
digital transformation journey and sustain their on-going risk management priorities,” Edgile Chief Executive Officer Don Elledge said.

Earlier this year, Wipro strengthened its cybersecurity business by acquiring Ampion, a provider of cybersecurity services in Australia, and the cybersecurity practice at
Capco, a consultancy in the BFSI sector in Europe and the US. Additionally, through its Wipro Ventures arm, the company continues to invest in cybersecurity startups
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Q141. Why is the company suggesting it might take as long as 12 months for the deal to complete?
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Coca-Cola's bottling arm to revive plans to sell its business: Report HCCB will sell Coca-Cola's 16 factory units and it might take 12 months to conclude the deal

The bottling arm of Coca-Cola, Hindustan Coca-Cola Beverages (HCCB), is reportedly reviving plans to sell its business. This comes as the valuation of the company is up
again in the post-pandemic recovery. The operations could be split among several bottlers or go to a single company, according to The Economic Times.
The company began the process to sell the unit in 2019.

"Coca-Cola had begun the divestment process in end-2019, by selling off its bottling units in the north, which accounted for 10 per cent of its bottling operations. But plans
to sell the remaining business were halted as Covid struck. Now, the process is being revived," an official aware of the development told ET.

HCCB will sell its 16 units and it might take 12 months to conclude the deal. Coca-Cola is the biggest player in the Indian soft drink market with brands like Thums Up,
Sprite, Coke and Minute Maid.

The task has been given to Juan Pablo Rodriguez, who was appointed the chief executive officer (CEO) of the company in 2022.

"Rodriguez, who has been associated with the company for over two decades across various markets, has been mandated to divest the bottling business by Coca-Cola
headquarters," another official told ET.

"Potential buyers would include industrial houses, including some of Coca-Cola's independent global bottling associates. Coca-Cola's existing Indian franchisee bottling
partners may not have the bandwidth to buy out the national bottling operations," the official added.

In 2021-22, the company reported a net profit of Rs 375.4 crore. The total income was up 30.6 per cent to Rs 9,147 crore. In FY22, the company had invested Rs 680 crore on
manufacturing, additional capacity expansion on visi-coolers, distribution and logistics.

The units are loss making
(O oraimdgady

There are a lot of prospective buyers for these kind of deals
() =9E & 6l & fir wga o g9ied @deEn &

This is not a priority area for the company
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It is a large deal with limited buyers
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It is a large deal with limited buyers
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Q142. Why do you think the CEO himself has been given this responsibility for divestment?
STt #47 Tre & T fafem ot e ge St s e i 2
Coca-Cola's bottling arm to revive plans to sell its business: Report HCCB will sell Coca-Cola's 16 factory units and it might take 12 months to conclude the deal
The bottling arm of Coca-Cola, Hindustan Coca-Cola Beverages (HCCB), is reportedly reviving plans to sell its business. This comes as the valuation of the company is up

again in the post-pandemic recovery. The operations could be split among several bottlers or go to a single company, according to The Economic Times.
The company began the process to sell the unit in 2019.

"Coca-Cola had begun the divestment process in end-2019, by selling off its bottling units in the north, which accounted for 10 per cent of its bottling operations. But plans
to sell the remaining business were halted as Covid struck. Now, the process is being revived," an official aware of the development told ET.

HCCB will sell its 16 units and it might take 12 months to conclude the deal. Coca-Cola is the biggest player in the Indian soft drink market with brands like Thums Up, Sprite,
Coke and Minute Maid.

The task has been given to Juan Pablo Rodriguez, who was appointed the chief executive officer (CEO) of the company in 2022.



"Rodriguez, who has been associated with the company for over two decades across various markets, has been mandated to divest the bottling business by Coca-Cola
headquarters," another official told ET.

"Potential buyers would include industrial houses, including some of Coca-Cola's independent global bottling associates. Coca-Cola's existing Indian franchisee bottling
partners may not have the bandwidth to buy out the national bottling operations," the official added.

In 2021-22, the company reported a net profit of Rs 375.4 crore. The total income was up 30.6 per cent to Rs 9,147 crore. In FY22, the company had invested Rs 680 crore on
manufacturing, additional capacity expansion on visi-coolers, distribution and logistics.

This is one of the most important goals for the company
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There is no person suitable to handle this kind of responsibility
T e T forant ST § fi = guge wfE T8 E

The CEO has rich experience in this kind of work
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The CEO has recently been appointed and has free bandwidth
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This is one of the most important goals for the company
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Q143. The units being divested are making profits. Why do you think Coca Cola is then wanting to sell them?
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Coca-Cola's bottling arm to revive plans to sell its business: Report HCCB will sell Coca-Cola's 16 factory units and it might take 12 months to conclude the deal

The bottling arm of Coca-Cola, Hindustan Coca-Cola Beverages (HCCB), is reportedly reviving plans to sell its business. This comes as the valuation of the company is up
again in the post-pandemic recovery. The operations could be split among several bottlers or go to a single company, according to The Economic Times.
The company began the process to sell the unit in 2019.

"Coca-Cola had begun the divestment process in end-2019, by selling off its bottling units in the north, which accounted for 10 per cent of its bottling operations. But plans
to sell the remaining business were halted as Covid struck. Now, the process is being revived," an official aware of the development told ET.

HCCB will sell its 16 units and it might take 12 months to conclude the deal. Coca-Cola is the biggest player in the Indian soft drink market with brands like Thums Up, Sprite,
Coke and Minute Maid.

The task has been given to Juan Pablo Rodriguez, who was appointed the chief executive officer (CEO) of the company in 2022.

"Rodriguez, who has been associated with the company for over two decades across various markets, has been mandated to divest the bottling business by Coca-Cola
headquarters," another official told ET.
"Potential buyers would include industrial houses, including some of Coca-Cola's independent global bottling associates. Coca-Cola's existing Indian franchisee bottling
partners may not have the bandwidth to buy out the national bottling operations," the official added.

In 2021-22, the company reported a net profit of Rs 375.4 crore. The total income was up 30.6 per cent to Rs 9,147 crore. In FY22, the company had invested Rs 680 crore on
manufacturing, additional capacity expansion on visi-coolers, distribution and logistics.



Coca Cola believes the bottling units are not its core competency
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Coca Cola is not able to manage so many units
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Coca Cola is not having funds to invest further in these units
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Coca Cola does not need bottling units any more
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Coca Cola believes the bottling units are not its core competency
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Q144. Why do you think the valuation of these units went down during Covid?
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Coca-Cola's bottling arm to revive plans to sell its business: Report HCCB will sell Coca-Cola's 16 factory units and it might take 12 months to conclude the deal
The bottling arm of Coca-Cola, Hindustan Coca-Cola Beverages (HCCB), is reportedly reviving plans to sell its business. This comes as the valuation of the company is up
again in the post-pandemic recovery. The operations could be split among several bottlers or go to a single company, according to The Economic Times.
The company began the process to sell the unit in 2019.

"Coca-Cola had begun the divestment process in end-2019, by selling off its bottling units in the north, which accounted for 10 per cent of its bottling operations. But plans
to sell the remaining business were halted as Covid struck. Now, the process is being revived," an official aware of the development told ET.

HCCB will sell its 16 units and it might take 12 months to conclude the deal. Coca-Cola is the biggest player in the Indian soft drink market with brands like Thums Up,
Sprite, Coke and Minute Maid.
The task has been given to Juan Pablo Rodriguez, who was appointed the chief executive officer (CEO) of the company in 2022.

"Rodriguez, who has been associated with the company for over two decades across various markets, has been mandated to divest the bottling business by Coca-Cola
headquarters," another official told ET.
"Potential buyers would include industrial houses, including some of Coca-Cola's independent global bottling associates. Coca-Cola's existing Indian franchisee bottling
partners may not have the bandwidth to buy out the national bottling operations," the official added.

In 2021-22, the company reported a net profit of Rs 375.4 crore. The total income was up 30.6 per cent to Rs 9,147 crore. In FY22, the company had invested Rs 680 crore on
manufacturing, additional capacity expansion on visi-coolers, distribution and logistics.

People were too busy with their personal struggles
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People looked at these businesses with a pessimistic view of the future
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The plants were damaged during Covid
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Coca Cola did not want to sell these units at that time
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People looked at these businesses with a pessimistic view of the future
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Q145. What was the likely income in these units last year?
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Coca-Cola's bottling arm to revive plans to sell its business: Report HCCB will sell Coca-Cola's 16 factory units and it might take 12 months to conclude the deal.

The bottling arm of Coca-Cola, Hindustan Coca-Cola Beverages (HCCB), is reportedly reviving plans to sell its business. This comes as the valuation of the company is up
again in the post-pandemic recovery. The operations could be split among several bottlers or go to a single company, according to The Economic Times.
The company began the process to sell the unit in 2019.

"Coca-Cola had begun the divestment process in end-2019, by selling off its bottling units in the north, which accounted for 10 per cent of its bottling operations. But plans
to sell the remaining business were halted as Covid struck. Now, the process is being revived," an official aware of the development told ET.

HCCB will sell its 16 units and it might take 12 months to conclude the deal. Coca-Cola is the biggest player in the Indian soft drink market with brands like Thums Up,
Sprite, Coke and Minute Maid.
The task has been given to Juan Pablo Rodriguez, who was appointed the chief executive officer (CEO) of the company in 2022.



"Rodriguez, who has been associated with the company for over two decades across various markets, has been mandated to divest the bottling business by Coca-Cola
headquarters," another official told ET.
"Potential buyers would include industrial houses, including some of Coca-Cola's independent global bottling associates. Coca-Cola's existing Indian franchisee bottling
partners may not have the bandwidth to buy out the national bottling operations," the official added.

In 2021-22, the company reported a net profit of Rs 375.4 crore. The total income was up 30.6 per cent to Rs 9,147 crore. In FY22, the company had invested Rs 680 crore
on manufacturing, additional capacity expansion on visi-coolers, distribution and logistics.

Around 287 Crore
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(O wmmesowds
The units were loss making
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Cannot be ascertained
Answer of above question: &g 78T fErar &1 g&Far

Q146. Why is Apple expanding production in India?

TIE YRA H 3wE 91 5g1 76T 22
If reports that Apple Inc plans to triple its iPhone production in India come true, it is likely to help the country become a supply hub for the American company. There are some
190 Apple suppliers globally, but only 12 have manufacturing facilities in India now.
Apple's strategy is to focus on India and a clutch of other countries as it diversifies its supply chain out of China. The American technology giant has reportedly instructed three
of its biggest vendors, Foxconn, Pegatron, and Wistron, to increase production capacity in India. A report by JP Morgan said recently that Apple, to diversify production, is
considering making 25 per cent of its handsets in India by 2025.
"This (Apple's strategy) may encourage a lot of suppliers in the ecosystem to come to India in segments like panel fabrication and semiconductors. Looking into the fact that
these factories are going to create indirect jobs too in the country, this expansion may create at least half a million jobs,” said Barnik Maitra, managing partner at international
consultancy Arthur D Little, India.
Out of Apple's 12 suppliers in India, six are in Tamil Nadu. There are three in Karnataka and one each in Andhra Pradesh, Maharashtra and Uttar Pradesh.
Industry experts said that Apple’s expansion plans may help companies looking to get captive users for their chips and components. Anil Agarwal-led Vedanta Group plans two
separate ventures that may see investments worth $15 billion in chip and display manufacturing space in India. Component suppliers are expected to raise their presence in
India. Tata Electronics' is all set to add another 8,000 jobs at its facility in Tamil Nadu's Hosur.
Foxconn announced recently that it will invest $500 million in its India unit to expand production. Following this, there were reports that it may add over 50,000 jobs at its
Sriperumbudur unit in Tamil Nadu. However sources indicate that the immediate plan is to increase the number of employees from around 15,000 to 18,000. In September,
Taiwan's Pegatron became the third Apple vendor (after Foxconn and Wistron) to set up a manufacturing unit in India by inaugurating a facility at Mahindra World City in
Chennai by investing around Rs 1,100 crore in the unit, potentially generating around 14,000 jobs.

It wishes to diversify out of China
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It is getting subsidies from the Indian government
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It's suppliers are wishing to expand in India
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None of these options
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It wishes to diversify out of China
Answer of above question: ag I & =% fBfFya o IET &

Q147. What is the expected number of direct and indirect jobs which will be created due to the increased Apple production?
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If reports that Apple Inc plans to triple its iPhone production in India come true, it is likely to help the country become a supply hub for the American company. There are
some 190 Apple suppliers globally, but only 12 have manufacturing facilities in India now.

Apple’s strategy is to focus on India and a clutch of other countries as it diversifies its supply chain out of China. The American technology giant has reportedly instructed
three of its biggest vendors, Foxconn, Pegatron, and Wistron, to increase production capacity in India. A report by JP Morgan said recently that Apple, to diversify production, is
considering making 25 per cent of its handsets in India by 2025.

“This (Apple's strategy) may encourage a lot of suppliers in the ecosystem to come to India in segments like panel fabrication and semiconductors. Looking into the fact
that these factories are going to create indirect jobs too in the country, this expansion may create at least half a million jobs,” said Barnik Maitra, managing partner at
international consultancy Arthur D Little, India.

Out of Apple’s 12 suppliers in India, six are in Tamil Nadu. There are three in Karnataka and one each in Andhra Pradesh, Maharashtra and Uttar Pradesh.

Industry experts said that Apple’s expansion plans may help companies looking to get captive users for their chips and components. Anil Agarwal-led Vedanta Group plans
two separate ventures that may see investments worth $15 billion in chip and display manufacturing space in India. Component suppliers are expected to raise their presence in
India. Tata Electronics' is all set to add another 8,000 jobs at its facility in Tamil Nadu's Hosur.

Foxconn announced recently that it will invest $500 million in its India unit to expand production. Following this, there were reports that it may add over 50,000 jobs at its
Sriperumbudur unit in Tamil Nadu. However sources indicate that the immediate plan is to increase the number of employees from around 15,000 to 18,000. In September,
Taiwan's Pegatron became the third Apple vendor (after Foxconn and Wistron) to set up a manufacturing unit in India by inaugurating a facility at Mahindra World City in
Chennai by investing around Rs 1,100 crore in the unit, potentially generating around 14,000 jobs.

Around 50000 jobs
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Around 500000 jobs
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Around 500000 jobs

Answer of above question:  #3T 500000 Tt

Q148. Chip and Display manufacturing will get encouragement from Apple’s new strategy because ........
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If reports that Apple Inc plans to triple its iPhone production in India come true, it is likely to help the country become a supply hub for the American company. There are
some 190 Apple suppliers globally, but only 12 have manufacturing facilities in India now.

Apple's strategy is to focus on India and a clutch of other countries as it diversifies its supply chain out of China. The American technology giant has reportedly instructed
three of its biggest vendors, Foxconn, Pegatron, and Wistron, to increase production capacity in India. A report by JP Morgan said recently that Apple, to diversify production, is
considering making 25 per cent of its handsets in India by 2025.

“This (Apple's strategy) may encourage a lot of suppliers in the ecosystem to come to India in segments like panel fabrication and semiconductors. Looking into the fact that
these factories are going to create indirect jobs too in the country, this expansion may create at least half a million jobs,” said Barnik Maitra, managing partner at international
consultancy Arthur D Little, India.

Out of Apple’s 12 suppliers in India, six are in Tamil Nadu. There are three in Karnataka and one each in Andhra Pradesh, Maharashtra and Uttar Pradesh.

Industry experts said that Apple’s expansion plans may help companies looking to get captive users for their chips and components. Anil Agarwal-led Vedanta Group plans
two separate ventures that may see investments worth $15 billion in chip and display manufacturing space in India. Component suppliers are expected to raise their presence in
India. Tata Electronics' is all set to add another 8,000 jobs at its facility in Tamil Nadu's Hosur.

Foxconn announced recently that it will invest $500 million in its India unit to expand production. Following this, there were reports that it may add over 50,000 jobs at its
Sriperumbudur unit in Tamil Nadu. However sources indicate that the immediate plan is to increase the number of employees from around 15,000 to 18,000. In September,
Taiwan's Pegatron became the third Apple vendor (after Foxconn and Wistron) to set up a manufacturing unit in India by inaugurating a facility at Mahindra World City in
Chennai by investing around Rs 1,100 crore in the unit, potentially generating around 14,000 jobs.



These units work with mostly dedicated captive users
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These units are getting various subsidies
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There is investment in such units by various groups
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Apple intends to invest in such units
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These units work with mostly dedicated captive users
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Q149. Based only on the details given in the case study can you ascertain the maximum Apple phones will be made out of which state
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If reports that Apple Inc plans to triple its iPhone production in India come true, it is likely to help the country become a supply hub for the American company. There are
some 190 Apple suppliers globally, but only 12 have manufacturing facilities in India now.
Apple’'s strategy is to focus on India and a clutch of other countries as it diversifies its supply chain out of China. The American technology giant has reportedly instructed

three of its biggest vendors, Foxconn, Pegatron, and Wistron, to increase production capacity in India. A report by JP Morgan said recently that Apple, to diversify production, is
considering making 25 per cent of its handsets in India by 2025.

"This (Apple's strategy) may encourage a lot of suppliers in the ecosystem to come to India in segments like panel fabrication and semiconductors. Looking into the fact that
these factories are going to create indirect jobs too in the country, this expansion may create at least half a million jobs,” said Barnik Maitra, managing partner at international
consultancy Arthur D Little, India.

Out of Apple's 12 suppliers in India, six are in Tamil Nadu. There are three in Karnataka and one each in Andhra Pradesh, Maharashtra and Uttar Pradesh.

Industry experts said that Apple’s expansion plans may help companies looking to get captive users for their chips and components. Anil Agarwal-led Vedanta Group plans
two separate ventures that may see investments worth $15 billion in chip and display manufacturing space in India. Component suppliers are expected to raise their presence in
India. Tata Electronics' is all set to add another 8,000 jobs at its facility in Tamil Nadu's Hosur.

Foxconn announced recently that it will invest $500 million in its India unit to expand production. Following this, there were reports that it may add over 50,000 jobs at its
Sriperumbudur unit in Tamil Nadu. However sources indicate that the immediate plan is to increase the number of employees from around 15,000 to 18,000. In September,
Taiwan's Pegatron became the third Apple vendor (after Foxconn and Wistron) to set up a manufacturing unit in India by inaugurating a facility at Mahindra World City in
Chennai by investing around Rs 1,100 crore in the unit, potentially generating around 14,000 jobs.
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Cannot be ascertained
Answer of above question: &g =gt faran w1 TeFar

Q150. What percentage of Apple’s overall manufacturing units are located in Tamilnadu now?
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If reports that Apple Inc plans to triple its iPhone production in India come true, it is likely to help the country become a supply hub for the American company. There are
some 190 Apple suppliers globally, but only 12 have manufacturing facilities in India now.

Apple's strategy is to focus on India and a clutch of other countries as it diversifies its supply chain out of China. The American technology giant has reportedly instructed
three of its biggest vendors, Foxconn, Pegatron, and Wistron, to increase production capacity in India. A report by JP Morgan said recently that Apple, to diversify production, is
considering making 25 per cent of its handsets in India by 2025.

“This (Apple's strategy) may encourage a lot of suppliers in the ecosystem to come to India in segments like panel fabrication and semiconductors. Looking into the fact that
these factories are going to create indirect jobs too in the country, this expansion may create at least half a million jobs,” said Barnik Maitra, managing partner at international
consultancy Arthur D Little, India.

Out of Apple’s 12 suppliers in India, six are in Tamil Nadu. There are three in Karnataka and one each in Andhra Pradesh, Maharashtra and Uttar Pradesh.

Industry experts said that Apple’s expansion plans may help companies looking to get captive users for their chips and components. Anil Agarwal-led Vedanta Group plans
two separate ventures that may see investments worth $15 billion in chip and display manufacturing space in India. Component suppliers are expected to raise their presence in
India. Tata Electronics' is all set to add another 8,000 jobs at its facility in Tamil Nadu’s Hosur.

Foxconn announced recently that it will invest $500 million in its India unit to expand production. Following this, there were reports that it may add over 50,000 jobs at its
Sriperumbudur unit in Tamil Nadu. However sources indicate that the immediate plan is to increase the number of employees from around 15,000 to 18,000. In September,
Taiwan's Pegatron became the third Apple vendor (after Foxconn and Wistron) to set up a manufacturing unit in India by inaugurating a facility at Mahindra World City in
Chennai by investing around Rs 1,100 crore in the unit, potentially generating around 14,000 jobs.
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Around 3%
Answer of above question: TRIHT 3%
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